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The following table shows the number of items sold by five persons A-E on five different days
(Monday through Friday). Some data is missing in the table that you are expected to calculate, if
required. Based on the data in the table, answer the questions that follow:

Persons

A B IC D [E
Monday (840 (880 [480 | |560)
Tuesday (720 | (1040420 [820)
Wednesday(560 480 (820 [830 |
Thursday (1080110201 11260320}
Friday [ (920 {700 |1020:800)

Dav

Sub questions

Question Number : 1 Question Id : 34212314530 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

If the total numbers of items sold by A and B on all the five days 15 4000, and 4400, respectively,
then the number of items sold by B on Tuesday is % more than the number of items
sold by A on Friday.

| B ks
2.235
3.32.23

4.42.5
Options :
1.1
2.2
3.3
4.4

Question Number : 2 Question Id : 34212314531 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



If the ratio of the number of items sold by B and C together on Thursday to the number of items
sold by C and E together on the same day is 2 : 1, then the number of items sold by C on
Thursday is:

1. 300
2.420
3. 330

4.340

Options :
1.1
2.2
3.3
4.4

Question Number : 3 Question Id : 34212314532 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

If the total number of items sold by A on all the five days is 3600, then the difference between the
mumber of items sold by A on Monday and Friday is:

1. 640
2.450
3.420
4. 440

Options :
1.1
2.2
3.3
4.4

Question Number : 4 Question Id : 34212314533 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



If the average number of items sold by D on Monday and Tuesday is 490, then the number of
items sold by E on Friday is % more than the number of items sold by D on Monday.

1.39.76
2.42.36
3.48.23
4.45

Options :
1.1
2.2
3.3
4.4

Question Number : 5 Question Id : 34212314534 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

If the number of items sold by C on Thursday is the average of the number of items sold by C on
Wednesday and Friday, then the total number of items sold by C on all the five days is:

L. 3500
2.3800
3. 3400

4. 3700

Options :
1.1
2.2
3.3
4.4

Question Id : 34212314529 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix
Question Numbers : (1 to 5)

Question Label : Comprehension
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Sub questions

Question Number : 1 Question Id : 34212314530 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

e A 3R B ZR1G Ut 161 o oelt 72 gl 1 et S ShARE: 4000 3R 4400 8,
mma%ﬁBmé%ﬂﬂﬁaﬂaﬁaﬁﬁ@wwuﬁAau@zﬂﬂéaﬁaﬁ@ 0
D gl

1843

22535
33273

4.42.5

Options :
1.1
2.2
3.3
4.4

Question Number : 2 Question Id : 34212314531 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1.300
2.420
3.380

4. 340
Options :
1.1
2.2
3.3
4.4

Question Number : 3 Question Id : 34212314532 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

e Gl O foF A R o<l 72 TG 1 et W 3600 8, ol A BRI GIMAR 3R YehaR
ol TS 31 1 e T SR -

1. 640

2.450

3.420

4.440
Options :
1.1
2.2
3.3
4.4

Question Number : 4 Question Id : 34212314533 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1.39.76
2.42.36
3.48.23

4.45
Options :
1.1
2.2
3.3
4.4

Question Number : 5 Question Id : 34212314534 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1. 3500
2. 3800
3. 3400

4.3700

Options :

1.1

2.2

3.3

4.4

Sub-Section Number : 2
Sub-Section Id : 342123571
Question Shuffling Allowed : Yes

Question Number : 6 Question Id : 34212314535 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List-I with List-IT

LISTI LISTII
(ICT/Tools) (Functions)
A |Padlet I. | Criteria-based assessment and feedback
B. |Rubrics II. | Collaborative digital bulletin board
C. | Quizlet III. | Feal time audience repsonse and polling
D. | Mentuneter IV. | Interactive Flashcards and Study sets

Choose the correct answer from the options given below:
1. A-IIT, B-IV. C-II, D-I
2. A-11, B-1, C-1V, D-IIT
3. A-IV. B-II, C-II, D-I

4. A-1, B-IV, C-III. D-II

Options :
1.1
2.2
3.3
4.4

Question Number : 6 Question Id : 34212314535 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1. A-IIT, B-IV. C-II, D-I

[

. A-IL, B-1, C-IV, D-III

L]

. A-1V, B-III, C-1I, D-1

4. A-1. B-1V, C-III, D-II

Options :
1.1
2.2
3.3
4.4

Question Number : 7 Question Id : 34212314536 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A teacher assigns a video lecture for students to watch at home before coming to class. Next day
in the class she engages sttudents in “hands-on’ experimental activities. Which approach she vsed
in this situation?

. Problem solving

2. Collaborative learning
3. Flipped classroom

4. Personalized learning

Options :
1.1
2.2



3.3
4.4

Question Number : 7 Question Id : 34212314536 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 8 Question Id : 34212314537 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A way of dealing with conflict in which people express their feelings, ask for what they want, say
‘00" to things they don't want, and act in their own best interests, is known as-

L. Aggressive style
2. Passive style
3. Assertive style

4, Manipulative style

Options:
1.1
2.2
3.3
4.4



Question Number : 8 Question Id : 34212314537 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 9 Question Id : 34212314538 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The transfer of learning from one situation to another situation that is conscious and effortful is
known as -

1. Near transfer
2. High-road transfer
3. Low-road transfer

4. Far transfer

Options :
1.1
2.2
3.3
4.4

Question Number : 9 Question Id : 34212314538 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 10 Question Id : 34212314539 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The belief that one can master a situation and produce positive outcomes is known as-

. self-efficacy

2. self-esteem

3. self-actualization
4. self-regulation

Options :
1.1
2.2
3.3
4.4

Question Number : 10 Question Id : 34212314539 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



I3 ol FRUTd 1 {0 el ST T RTeTdh URUTY Fehld Wbl €, 30 fayra bl i
gl Wl g7

1. - FHTaTeehdl
2. -G

3. g

4. Te-FTm

Options :
1.1
2.2
3.3
4.4

Question Number : 11 Question Id : 34212314540 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

*Code numbers given to the religion of persons’ is an example of data on which of the following
scales of measurement?

. nominal
2. ordinal
3. interval
4. ratio

Options :
1.1
2.2
3.3
4.4

Question Number : 11 Question Id : 34212314540 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 12 Question Id : 34212314541 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The criterion of *dependendability” in qualitative research parallels which of the following criteria
in quantitative research?

. Objectivity

2. Internal validity
3. external validity
4. reliability

Options :
1.1
2.2
3.3
4.4

Question Number : 12 Question Id : 34212314541 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2

3.3
4.4

Question Number : 13 Question Id : 34212314542 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Identify the correct statement about the quantitative content analysis:

1. It can allow a certain amount of longitudinal analysis

(i)

. It 1s an obtrusive method
3. It is a very rigid method

4. It is a reactive method
Options :
1.1
2.2
3.3
4.4

Question Number : 13 Question Id : 34212314542 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 14 Question Id : 34212314543 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The geometric mean of the number 9, 12 and 16 is:

1. 12.33

b3

. 11.66
312

4. 12.66
Options :
1.1
2.2
3.3
4.4

Question Number : 14 Question Id : 34212314543 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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4. 12.66

Options :
1.1
2.2
3.3
4.4

Question Number : 15 Question Id : 34212314544 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Suppose Hy = Null Hypothesis, H, = Alternate Hypothesis, u = population mean, Hy, =
hypothesized mean. A researcher sets up Hy : u= iy, and Hy : p < iy, In this sitvation, the
researcher would apply

L. right-tailed test
2. left -tailed test
3. two-tailed test

4, half-tailed test

Options :
1.1
2.2
3.3
4.4

Question Number : 15 Question Id : 34212314544 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 16 Question Id : 34212314545 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The Western Society considers communication as an instrument of-

1. Aggression

b3

. Separation

(]

. Covert operations
4. Human relationship

Options:
1.1
2.2
3.3
4.4

Question Number : 16 Question Id : 34212314545 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 17 Question Id : 34212314546 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The context in which communication takes place is termed as -

1. Hostorical background

b3

. Objectification
3. Environment
4. Mediasphere

Options :
1.1
2.2
3.3
4.4

Question Number : 17 Question Id : 34212314546 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



e forgH YUy gidl 8. dedidl & -
RUCHINCALIE)
ACLBICT|

—a

[

3. gIdTER0l
4, SR &3 (HIf3a1 Th3R)

Options :
1.1
2.2
3.3
4.4

Question Number : 18 Question Id : 34212314547 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In non-verbal communication, a symbol representing an object is known as -

1. Identify symbol

2. Explanatory symbol
3. Animated symbol
4. concrete symbol

Options :
1.1
2.2
3.3
4.4

Question Number : 18 Question Id : 34212314547 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 19 Question Id : 34212314548 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Communication is continuously

1. Evolving

b3

. negative

(]

. stagnant

4. subliminal
Options :
1.1
2.2
3.3
4.4

Question Number : 19 Question Id : 34212314548 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 20 Question Id : 34212314549 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match the List-I with List-IT

LISTI LISTII
(Communication noise) {Description)
A |Semantic [ |Exusts outside of the receiver
B. |Physical II. |communicator's prejudices and biases towards another person
C. |Psychological III. | The biological influence on the communication process
D. |Physiological IV. |Linguistic influence on message reception

Choose the correct answer from the options given below:
1. A-IL, B-III, C-IV, D-I
2. AL B-IV. C-1, D-II
3. A-IV, B-L, C-II, D-III

4. A-L B-II, C-III, D-IV

Options :
1.1
2.2
3.3
4.4



Question Number : 20 Question Id : 34212314549 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1. A-II, B-III. C-1IV, D-I

ola|w|s

(]

- A-IIL B-IV, C-1, D-II
3. A-IV, B-1, C-11, D-III

4. A-L, B-II C-1IL, D-IV

Options :
1.1
2.2
3.3
4.4

Question Number : 21 Question Id : 34212314550 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A school boy, travelling at 3 km/hr, reaches his school 28 minutes late but when he travels at 5
km/hr, he reachers his school 28 minutes early. What distance does he travel every day to reach
the school?

1.6 km
2.8 km
3. Tkm

4.9 km

Options :



1.1
2.2
3.3
4.4

Question Number : 21 Question Id : 34212314550 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1. 6 foH]
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Options :
1.1
2.2
3.3
4.4

Question Number : 22 Question Id : 34212314551 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

There are three positive numbers. One third of the average of all the three numbers is § less than
the value of the highest number. If the average of the lowest and the second lowest number is 8,
then what is the highest number?

1.9

[

10
3.11

4.12

Options :
1.1
2.2



3.3
4.4

Question Number : 22 Question Id : 34212314551 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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19
2.10
3.11

4. 12
Options :
1.1
2.2
3.3
4.4

Question Number : 23 Question Id : 34212314552 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In a school, there were 1582 students and the ratio of the number of the boys and girls was 4 : 3.
After few days, 30 girls joined the school but few boys left the school and as a result, the ratio of
the boys and girls became 7 : 6. The number of boys who left the school is?

1. 84

3.86

4.78
Options :
1.1
2.2
3.3
4.4



Question Number : 23 Question Id : 34212314552 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1. 84

2.74
3.86
4.78

Options :
1.1
2.2
3.3
4.4

Question Number : 24 Question Id : 34212314553 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What will be the value of P in the following number series?
6. 3,26, 205, B ccpmnensansmisinsn

1. 624

[

513
3.1023

4.3124

Options :
1.1
2.2
3.3
4.4

Question Number : 24 Question Id : 34212314553 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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(o

311
31023

4.3124

Options :
1.1
2.2
3.3
4.4

Question Number : 25 Question Id : 34212314554 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A certain sum of money becomes 28800 in 2 years at 20% per annum of compound interest
(Compounded annually). The sum of money is:

1. 324000
2.322000
3.321000

4.320000

Options :
1.1
2.2
3.3
4.4

Question Number : 25 Question Id : 34212314554 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1.324000
2.322000
3.321000

4.320000
Options :
1.1
2.2
3.3
4.4

Question Number : 26 Question Id : 34212314555 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following terms in order of increading abstractness:

A. Alloy
B. Metal
C. Steel
D. Mineral

Choose the correct answer from the options given below:

LGB, BUA

(o

Coa B D

(5]

CA DB

4.D,B. A, C

Options :
1.1
2.2
3.3
4.4

Question Number : 26 Question Id : 34212314555 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1.C,B,D,A
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L

CyA, DB
4.D,B, A, C

Options :
1.1
2.2
3.3
4.4

Question Number : 27 Question Id : 34212314556 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following statements are true regarding the word *God’?

A. It is meaningless

B. it 1s meaningful

C. The word God has no intension that could be its meaning.

D. In case of word “God’, there is an intension that is its meaning.

Choose the correct answer from the options given below:
1. B and D only
2. Aand C only
3. Aonly

4. B only

Options :
1.1



2.2
3.3
4.4

Question Number : 27 Question Id : 34212314556 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 28 Question Id : 34212314557 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

“A line 1s composed of points. Points have no length. Therefore a line has no length.” Which
informal fallacy i1s committed in this statement?

L. Fallacy of composition
2. Equivocation
3. Hasty generalisation

4. Slippery slope



Options :
1.1
2.2
3.3
4.4

Question Number : 28 Question Id : 34212314557 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 29 Question Id : 34212314558 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following statement is logically equivalent to the statement - *“No liquids are
beverages.”?

L. All non-bevarages are non-liquids
2. All liquids are non-beverages.
3. Some beverages are not liquids

4. No beverages are liquids.

Options :
1.1



2.2
3.3
4.4

Question Number : 29 Question Id : 34212314558 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 30 Question Id : 34212314559 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

According to Classical Indian School of Logic (Nyaya) the argument - “Sound is eternal because
it 1s produced” Is fallacious because:

L. The middle term instead of being pervaded by the presence of major term is pervaded by its
absence.

2. The locus of the middle term is impossible.

3. The middle term instead of being pervaded by the absence of major term is pervaded by its
presence.

4. Tt lacks any major term.

Options :
1.1
2.2
3.3



4.4

Question Number : 30 Question Id : 34212314559 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 31 Question Id : 34212314560 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A security system used a camera to capture images of each person entering a gift shop. Each
image taken requires 1 MB of storage. If the camera captures an image every 3 seconds over a
24-hour of period, how much storage is required?

1.16.875GB
2.15.250 GB
3.12.525GB

4.19.625 GB
Options :
1.1
2.2
3.3
4.4



Question Number : 31 Question Id : 34212314560 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1. 16.875 GB

2.15.250 GB
3.12.525GB
4.19.625 GB

Options :
1.1
2.2
3.3
4.4

Question Number : 32 Question Id : 34212314561 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

With reference to different number systems, which of the following statements is true?

L. (109)0 = (1101001),

2. (123)s = (212),

3. (101)16 + (110)g = (429)¢
4. (241)6=(131)g

Options :
1.1
2.2
3.3
4.4

Question Number : 32 Question Id : 34212314561 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1. (109)10=(1101001),
2. (123)5 = (212),
3.(101 Yig T {110}5 o {429]1{3

4.(241)6=(131)g

Options :
1.1
2.2
3.3
4.4

Question Number : 33 Question Id : 34212314562 Question Type : MCQ Option Shuffling
Correct Marks : 2 Wrong Marks : 0

In the context of Bluetooth and Wi-Fi as wireless communication technologies, which of the
following statements are true?

A. Bluetooth allows for short-range data transfer between electronic devices, whereas Wi-Fi
allows electronic devices to connect to the Internet.

B. Bluetooth needs a direct line of sight for data transmission, whereas Wi-Fi does not need it.

C. Bluetooth limits the number of devices that can connect at any one time, whereas Wi-Fi is
open to more devices and more users.

D. Bluetooth does not need a direct line of sight for data transmission, where as Wi-Fi does
need it.

Choose the correct answer from the options given below:
I. Aand B only
2.Band C only
3.A,Cand D only

4. Aand C only

Options :
1.1
2.2
3.3

:No



4.4

Question Number : 33 Question Id : 34212314562 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 34 Question Id : 34212314563 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



In computers, which of the following statements is true?

1. Data matrix printer is a type of non-impact printer
2. laser printer is a type of impact printer
3. The resolution of a laser printer is measured in Megabits per second (Mbps)

4. Data matrix printers are noisy, low quality and slow in comparison to laser printers

Options :
1.1
2.2
3.3
4.4

Question Number : 34 Question Id : 34212314563 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :

1.1

2.2

3.3

4.4

Question Number : 35 Question Id : 34212314564 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following statements about spreadsheet software (MS-EXCEL) are true?

A. Data in spreadsheets are always correct.

B. Spreadsheet software cannot draw bar graphs.

C. Spread sheet software automatically recalculates.

D. Some cells in a spreadsheet can be locked to prevent a user changing its contents.

Choose the correct answer from the options given below:

I. Aand B only
2. C and D only
3. Aand C only

4. B and D only

Options :
1.1
2.2
3.3
4.4

Question Number : 35 Question Id : 34212314564 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :




1.1
2.2
3.3
4.4

Question Number : 36 Question Id : 34212314565 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following is correct chronological order of earliest to latest of different acts
according to their year of enactment in India?

1. The Environment Protection Act, Air (Prevention and Control of Pollution) Act, Water
(Prevention and Control of Pollution) Act

2. Air (Prevention and Control of Pollution) Act, The Environment Protection Act, Water
(Prevention and Control of Pollution) Act

3. Water (Prevention and Control of Pollution) Act, The Environment Protection Act, Air
(Prevention and Control of Pollution) Act

4, Water (Prevention and Control of Pollution) Act, Air (Prevention and Control of Pollution)
Act, The Environment Protection Act,

Options :
1.1
2.2
3.3
4.4

Question Number : 36 Question Id : 34212314565 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 37 Question Id : 34212314566 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Benefits of biodiesel over pertodiesel are;

A. Biodiesel contains virtually no sulfur

B. Biodiesel emits substantially lower carbon monoxide (CO)

C. Biodiesel is a better lubricant than petrodiesel.

D. Biodiesel emits significantly lower Oxides of Nitrogen Oxides (NOy) than petrodiesel.

E. Particulate emission by biodiesel is much lower that that of petrodiesel.

Choose the correct answer from the options given below:

I.A,B,C,Donly
2.B,C, D, E only
3.A,B,C,Eonly

4.A,B.D.E only

Options :
1.1



2.2
3.3
4.4

Question Number : 37 Question Id : 34212314566 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 38 Question Id : 34212314567 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following came as alternatives to chlorofluorocarbons (CFCs) as refrigerants?

A. Hydrofluorocarbons
B. Perfluorocarbons

C. Hydrochlorofluorocarbons
D. Halons

Choose the correct answer from the options given below:

[.A,Band Conly
2.B, Cand D only
3.Band D only

4. Aand C only

Options :
1.1
2.2
3.3
4.4

Question Number : 38 Question Id : 34212314567 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :



1.1
2.2
3.3
4.4

Question Number : 39 Question Id : 34212314568 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following is true about over fertile lake?

—

. Nitrate level decreases

[

. Depletion in algal productivity
3. Oxygen level increases
4. Quality of fishes produced is impaired.

Options :
1.1
2.2
3.3
4.4

Question Number : 39 Question Id : 34212314568 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
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Question Number : 40 Question Id : 34212314569 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Temporary hardness in water is also known as:

—a

. Sulphate hardness

(i)

. Nitrate hardness

(el

. Chloride hardness

4. Carbonate hardness
Options :
1.1
2.2
3.3
4.4

Question Number : 40 Question Id : 34212314569 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 41 Question Id : 34212314570 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Under the Universities Act of 1904, universities were given the authority to recognise:

L. School boards

2. Literacy missions
3. Elementary schools
4. Secondary schools

Options :
1.1
2.2
3.3
4.4

Question Number : 41 Question Id : 34212314570 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 42 Question Id : 34212314571 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



One of the subjects taught at ancient Nalanda University was:

. Astronomy

(i)

. Chemistry

(el

. Metaphysics

4. Mathematics
Options :
1.1
2.2
3.3
4.4

Question Number : 42 Question Id : 34212314571 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

[

Question Number : 43 Question Id : 34212314572 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



What was National Knowledge Commission's recommendations for minimum gross entrolment
ratio to be achieved in higher education by 20157

1. 5 percent
2. 10 percent
3. 135 percent

4. 20 percent

Options :
1.1
2.2
3.3
4.4

Question Number : 43 Question Id : 34212314572 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 44 Question Id : 34212314573 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following are the functions of Indian Council of Social Science Research?

A. Encourage delinking of social sciences from natural sciences
B. Provide scholarship for research in social sciences.

C. Give financial support to institutional journals of research.
D. Promote social science research.

E. Blacklist non-performing social science institutions from time to time.
Choose the correct answer from the options given below:

I. A, Band C only

2.B.C and D only

3.C.Dand E only

4. A, D and E only

Options :
1.1
2.2
3.3
4.4

Question Number : 44 Question Id : 34212314573 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 45 Question Id : 34212314574 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The period between 1200 and 1764 AD was remarkable in India for the highest distinction
attained by:

L. Popular literature
2. Vernacular literature
3. English literature

4. French literature

Options :
1.1
2.2
3.3
4.4

Question Number : 45 Question Id : 34212314574 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
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Question Id : 34212314575 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (46 to 50)
Question Label : Comprehension

Read the following passage carefully and answer the questions:

Until recently, little was known for certain about how the brain changes as children age and grow.
Considerable progress is being made in charting developmental changes in the brain, although
much 1s still unknown.

The number and size of the brain’s nerve endings continue to grow at least until adolescence.
Some of the brain’s increase in size also Is due to myelination, a process in which many cells of
the brain and nervous system are covered with an insulating layer of fat cells. This increases the
speed at which information travels through the nervous system. Myelination in the areas of the
brain related to hand-eye co-ordination is not complete until about four years of age. Myelination
in brain areas that are important in focusing attention is not complete until the end of the
elementary school vears. The implications for teaching are that the children will have more
difficulty focusing their attention and maintaining it for very long in early childhood but their
attention will improve as they move through the elementary school years. Even in elementary
school and later, many educators believe occasional short breaks sustain children's energy and
motivation to learn.

Another important aspect of the brain’s development at the cellular level is the dramatic increase
in connections between neurons (nerve cells).

Synapses are tiny gaps between neurons where connections between neurons are made.
Researchers have discovered an interesting aspect of synaptic connections. Nearly twice as many
of these connections are made than ever will be used.

The connections that are used become strengthened and will survive, while the unused ones will
be replaced by other pathways or disappear.

Sub questions

Question Number : 46 Question Id : 34212314576 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



The number and size of the brain's nerve endings continue to grow till:

1. Elementaty school vears

[-2

. Early childhood

LS

. Adulthood

4. Adolescence
Options :
1.1
2.2
3.3
4.4

Question Number : 47 Question Id : 34212314577 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following facts about Myclination are correct?

A. Tt increases the speed at which information trevels through the nervous system.
B. It is responsible for increase in size of the brain.

C. It i1s completed in all areas of the brain by age four.

D. Knowledge about it dies not benefit us in any way.

Choose the correct answer from the options given below:

l. Cand D only
2.B, Cand D only
3. Aand B only

4.A.CandD only

Options:
1.1
2.2
3.3
4.4

Question Number : 48 Question Id : 34212314578 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following facts regarding synaptic connections are correct?

A. Connections that are used are weakened.

B. Twice as many connections are made than ever will be used.

C. Unused connections either disappear or are replaced by other pathways.
D. Connections that are used perish.

Choose the correct answer from the options given below:

1. A, B and D only
2. B and C only
3. Aand D only

4.B. C and D only

Options :
1.1
2.2
3.3
4.4

Question Number : 49 Question Id : 34212314579 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

As children grow their attention span focus

1. Remains static

(i)

. Improves

LS

. Declines msignficantly
4. Declines significantly

Options :
1.1
2.2
3.3
4.4

Question Number : 50 Question Id : 34212314580 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Synapses are considered as:

1. Timely gaps between neurons where connections between neurons are made,
2. An element responsible for blood circulation in the brain

3. Large gaps between neurons where connections between neurons are made
4. One and only particle of the brain related to hand-eye-coordination.

Options :
1.1
2.2
3.3
4.4

Question Id : 34212314575 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (46 to 50)
Question Label : Comprehension
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Sub questions

Question Number : 46 Question Id : 34212314576 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TGS o1 i1 & R &1 S a1 iR 4 7Y AR § $d dd i gldl g
1. ST faeer & avf dob

2. 3RIHS IR dD

3. 99%pdl dd
4. foURGRI dd

Options :
1.1



2.2
3.3
4.4

Question Number : 47 Question Id : 34212314577 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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4. HdA A, C AR D

Options :
1.1
2.2
3.3
4.4

Question Number : 48 Question Id : 34212314578 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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4. HddA B, C AR D

Options :
1.1
2.2
3.3
4.4

Question Number : 49 Question Id : 34212314579 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
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Question Number : 50 Question Id : 34212314580 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

QARG B! g U H AH 911 82
L. AGPIABIA P Bl IR, STel WgPIRP1A & ¥ Yy =g W & |
2. A% H ¥ad YaR & foly U FeRamdl dd
3. ADINDISH B did 99 3R, T WD & s Heley TS STl § |

4. BI--A-TH-90 Y YelSId AR B UHHT Bl

Options :

1.1

2.2

3.3

4.4

Physical Education

Section Id : 342123193
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 92
Number of Questions to be attempted : 92
Section Marks : 200
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 342123573
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 34212314581 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



In which Olympiad of the ancient Olympic games Pankration event was included?

. 14% Olympiad
2. 18tk Olympiad
3, 75t Olympiad

4. 30 Olympiad

Options :
1.1
2.2
3.3
4.4

Question Number : 51 Question Id : 34212314581 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Wi 3Hiciftd Gell & b ATcftars o Trsh=i W Wl ! Qi fohar e
1. 147 Siciftrre

187 Fiiciftars
3,257 3fieifare
4. 3091 AT

Options :

1.1

2.2

3.3
4.4

g}

Question Number : 52 Question Id : 34212314582 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



What was the theme of the 10® International Yoga day?

1. Yoga for Vasudhaiva Kutumbakam

[

. Yoga for humanity

LS ]

. Yoga for Self and Society

4. Yoga for Wellness

Options :
1.1
2.2
3.3
4.4

Question Number : 52 Question Id : 34212314582 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

109 3fRRIPTT g1 feaq T AiH Fr i
. 9YYd HEHY gd Al
A g aiT

.Y Ud AT gq Al

4. T} W= g g1

Options :
1.1
2.2
3.3
4.4

—

[t

s

Question Number : 53 Question Id : 34212314583 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which Country boycotted the winter Olympic games 19807

l. France

(i)

. China
3. Tarwan

4. Russia
Options :
1.1
2.2
3.3
4.4

Question Number : 53 Question Id : 34212314583 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T G 1980 & id 3McifUs Tdl BT Sig™HR fHar U1

1. i

REIC|

[

3. dlgdi-
4.4

Options :
1.1
2.2
3.3
4.4

Question Number : 54 Question Id : 34212314584 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which clock determines the number of times a cell can divide?

|. Telomere

(i)

. Mitvey

(el

. Biological

4. Nares
Options :
1.1
2.2
3.3
4.4

Question Number : 54 Question Id : 34212314584 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

S T St ag MR Bl 8 1o U D1 P Tt IR faIordt febat off Yeoell 37
1. Tdm
2. fireda
3. Sl
4989

Options :
1.1
2.2
3.3
4.4

Question Number : 55 Question Id : 34212314585 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which is the predominant cell type in the growing cartilage ?

1. peritoneusblasts

(i)

. merocrine

(el

. mesothelium

4. chondroblasts
Options :
1.1
2.2
3.3
4.4

Question Number : 55 Question Id : 34212314585 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

afefd Uy &1 UG B YR FHfeRad 0 9 &4 9182
1. IR

RN

3. difergy

[

4. DRy
Options :
1.1
2.2
3.3
4.4

Question Number : 56 Question Id : 34212314586 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



What occurs when ionic compounds are formed ?

1. Oxidation reactions

(i)

. Exergonic reactions
3. Helix Beta pleated reactions

4. Redox reactions
Options :
1.1
2.2
3.3
4.4

Question Number : 56 Question Id : 34212314586 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

SIe AP ARS TR BId ¢ I F1 °9fed gidl 8
1. SilfHROT Hffshar

UGS SifHfchan

3. giciaq dicTercs sfufdbar

4. Yslag sfftifhar

Options :
1.1
2.2
3.3
4.4

[

Question Number : 57 Question Id : 34212314587 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Who developed the mercury barometer, an instrument that permits the accurate measurement of
atmospheric pressure

1. Pascal
2. Barode
3. E. Lavoisier

4. Torricelli

Options :
1.1
2.2
3.3
4.4

Question Number : 57 Question Id : 34212314587 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

68 TR BT sRIvIeR faepfd far U SUvT off qgHeeiy qard &1 Ui 1Y el §

L. Ul

2. W8
3.3 AR
4. IRl

Options :
1.1
2.2
3.3
4.4

Question Number : 58 Question Id : 34212314588 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Children often hold a larger bat closer to the center of the bat . This makes it easier to swing
because

1. The centre of mass is reduced
2. The radius of gyration is reduced
3. The effective mass is increased

4, The radius of gyration is increased

Options :
1.1
2.2
3.3
4.4

Question Number : 58 Question Id : 34212314588 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ﬁgw % 9] I Se o AT did H Udaa 6| 394 I deall JA H SRIH Bl 8

| SOTHM &1 g HH G VT ¢
2, Yaclie o s BA gl ol §

3. JHTd] 5o 9 ST
4. Uil @1 Bt o6 oIl ¢

Options:
1.1
2.2
3.3
4.4

Question Number : 59 Question Id : 34212314589 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



We apply a force against the ground in running, but the force that propels us , the ground reaction
force, is directed upwards. This principle is consistent with Newton's:

|. Law of mnertia
2. Law of acceleration
3. Law of action-reaction

4. Law of Gravitation

Options :
1.1
2.2
3.3
4.4

Question Number : 59 Question Id : 34212314589 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T GIS- A HeH b Hiddd o B WM &R ¢ clidH aa g4 Hebaidl g, Her Widihdl 9
Tl SR B g1 €1 98 M98 oA & g figid 9 e g

1. aiedd & fgld
). TR T g
3. fopar-ufaferan &1 Rrgid

4. TocdId YU 1 g

Options :
1.1
2.2
3.3
4.4

Question Number : 60 Question Id : 34212314590 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



By what amount does the Kinetic energy of an object change if its velocity triples?

1. It increases 3 times
2. It decreases 3 times
3. It increases 9 times

4. It decreases 9 times
Options :
1.1
2.2
3.3
4.4

Question Number : 60 Question Id : 34212314590 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

oG HET H U g &1 Pg-icid Toll dGaidl o dfe 38T a7 [T gl oilell ¢
. 7% 3 U §i6ell
2. U8 3 O 9edl g
3. T8 9 N 6ell §
4. T8 9 O YT §

Options :
1.1
2.2
3.3
4.4

Question Number : 61 Question Id : 34212314591 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



During running, the legs predominately move in which plane ?

1. Frontal

(i)

. Coronal
3. Transverse
4. Sagittal

Options :
1.1
2.2
3.3
4.4

Question Number : 61 Question Id : 34212314591 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

GIe- & GRM, IR (Y B Ygddl ¥ 31 §6d o
. G & RB

ARG BT R®

3. IS TR

4. A

Options :
1.1
2.2
3.3
4.4

(g

Question Number : 62 Question Id : 34212314592 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



A footballer committing a professional foul to avoid a conceding a goal is an example of
1. Unsanctioned aggression
2. Hostile aggression
3. Instrumental aggression
4. Assertive aggression

Options :
1.1
2.2
3.3
4.4

Question Number : 62 Question Id : 34212314592 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

U& ook WHRS e Y 5919 U TR 7 (BI3e) TR ¢ H 0P e
1. SRGIHd Tl

4. 94 BT

Options :
1.1
2.2
3.3
4.4

Question Number : 63 Question Id : 34212314593 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



According to , the success of leadership depends on the characteristics of leaders and the
situation in which they are leading.

I. Instinct theory
2. Trait theory
3. Contingency theory

4, Self- perception theory

Options :
1.1
2.2
3.3
4.4

Question Number : 63 Question Id : 34212314593 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

GG SR A9 @) S e & faRivdel m R FRdt § aur o
TR HTIFa R G T

1. Tafife frgid

2. T g

3. 31 Wl g

4. 3T e Rgid
Options :
1.1
2.2
3.3
4.4

Question Number : 64 Question Id : 34212314594 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Execute backstroke with firm wrist and with elbow pointed down is an example of which type of
goal?

. Outcome goal
2. Performance goal
3. Process goal

4. Measurable goal

Options :
1.1
2.2
3.3
4.4

Question Number : 64 Question Id : 34212314594 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

g Belg R DI 41 1 AR ¥ §U G EIeh M1 oo Yo o 711 1 0@
SERUE,

1. GROTH (FepY) g
2. (e deg

3. Wi T

4. URHT 8Y

Options :
1.1
2.2
3.3
4.4

Question Number : 65 Question Id : 34212314595 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



The experience of physiological changes associated with anxiety is called ;

1. Somatic anxiety

1]

. Cognitive anxiety
3. Trait anxiety
4. State anxiety

Options :
1.1
2.2
3.3
4.4

Question Number : 65 Question Id : 34212314595 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Jcehdl & 1Y Geifed IR [oha1dd URad &1 fud dgaldis
L. dTfeep gfgar
2. IR g4l
3. AT Gl
4. ITYIHT gfgdr

Options :
1.1
2.2
3.3
4.4

Question Number : 66 Question Id : 34212314596 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



An evaluation that takes place during the activity is called

|. Formative evaluation

(i)

. Preformative evaluation

(el

. Summative evaluation
4. Planning evaluation

Options :
1.1
2.2
3.3
4.4

Question Number : 66 Question Id : 34212314596 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Tfafaferdt & GRM S HedidH gidl ¢ 98 Hodldi o
1. TATHS i
e S geid
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(g

(s

4. DIOSHIHAD i

Options :
1.1
2.2
3.3
4.4

Question Number : 67 Question Id : 34212314597 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



A skill containing a single unit of activity with a clear beginning and end is known as ;

1. Discrete skl
2. Continuous skill
3. Serial skill

4. Linear skill
Options :
1.1
2.2
3.3
4.4

Question Number : 67 Question Id : 34212314597 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

feTate] SR 3R 3 WY Uh Wl 3072 o fob el fore fqurer <1t 8 ]
U H S Wl

1. 54 QU (B19T)
2, T HYURTT (@11

3. A U (@I
4. X% QU (@ 1)

Options :
1.1
2.2
3.3
4.4

Question Number : 68 Question Id : 34212314598 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which is not an example of an invasion game.

|. Team Handball

(i)

. Soccer
3. Tennis
4. Hockey

Options :
1.1
2.2
3.3
4.4

Question Number : 68 Question Id : 34212314598 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fARfIRId H U &IF I Udh IaTg 0l 3THHU W &I ol o

3. g

4. Blpl

Options :
1.1
2.2
3.3
4.4

—

[

Question Number : 69 Question Id : 34212314599 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



When urban malaria scheme was launched ?

1 1972

(i)

. 1974

(el

85 &0 5 |

4. 1970
Options :
1.1
2.2
3.3
4.4

Question Number : 69 Question Id : 34212314599 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TRIE AR TS e URY i 115 412

11972

g

. 1974

5]

. 1971

4. 1970

Options :
1.1
2.2
3.3
4.4

Question Number : 70 Question Id : 34212314600 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



is a colourless gas with a sharp odour

1. Hydrocarbon

(i)

. Cadmium

(el

. Sulphur dioxide
4. Hydrogen sulphide

Options :
1.1
2.2
3.3
4.4

Question Number : 70 Question Id : 34212314600 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Ud JTEH 719 g 3R Jikdi 11 areil ©
IEEJ’\
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(g

3. gy SIS

4. ISSIoH Yehls s

Options :
1.1
2.2
3.3
4.4

Question Number : 71 Question Id : 34212314601 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which is the most dangerous cancer?

1. Carcinoma

(i)

. Melanoma

(el

. Alopecia

4. Sebum
Options :
1.1
2.2
3.3
4.4

Question Number : 71 Question Id : 34212314601 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

D Il HPR JaY GRATD g7
1. gRE=Er
HAHMAT
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\ g

Options :
1.1
2.2
3.3
4.4

[

Question Number : 72 Question Id : 34212314602 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which loading process is often classified as a short term overloading?

1. Conjugated sequence loading

[-2

. Concentrated Loading

LS

. Flat Loading
4. Linear Loading

Options :
1.1
2.2
3.3
4.4

Question Number : 72 Question Id : 34212314602 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ot ST R @l U SfcUaplicid TaRalfSr & IR W aHiidhd ol STl g2
. Gl 3 d eIt
2. Gifgd difg
3. Tl @IS
4, AR AT

Options :
1.1
2.2
3.3
4.4

Question Number : 73 Question Id : 34212314603 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



The ability to rapidly switch from an eccentric contraction to a concentric contraction is known
as.

|. Starting strength
2. Speed strength
3. Elastic reactive strength

4, Stabilisation strength

Options :
1.1
2.2
3.3
4.4

Question Number : 73 Question Id : 34212314603 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

U Jhgl Gha U G5! Updd ! dldidl H TR &WdT 6l T8 gl Sl g
1. 3Tl il

2. T g

3. DGR UiddTdd digdl
4, FRRTHI g

Options :
1.1
2.2
3.3
4.4

Question Number : 74 Question Id : 34212314604 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



The retention of change by systematic workloads beyond a certain time period after the cessation
of training is called

. The acute training effect
2. The immediate training effect
3. The residual training effect

4, The delayed training effect

Options :
1.1
2.2
3.3
4.4

Question Number : 74 Question Id : 34212314604 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

107 1 I & U e Ty Garafl ¥ 3l yorelle s SRIURT gRT ORadH! Bl
SRV ) NI

L. & R80T g1

2. TPIe IO THId
3. a2 G0 YU
4. faclfad URI&or g1

Options :
1.1
2.2
3.3
4.4

Question Number : 75 Question Id : 34212314605 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Who mtroduced the modern theory of periodisation ?

|. Ron Clarke

(i)

. L.P Matveyer
3. T.D Noakes

4. Gundlach
Options :
1.1
2.2
3.3
4.4

Question Number : 75 Question Id : 34212314605 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fe edd & eyfie Ryeid & ufaurfad fbar ma
1. 3 &b
. Td. 4T, A1edmR

3. €181 A1y

[

4. THATCA

Options :
1.1
2.2
3.3
4.4

Question Number : 76 Question Id : 34212314606 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Ifmeanofx,x+4.x+7 2x+5.x+101s

1. 11

4.11.5
Options :
1.1
2.2
3.3
4.4

Question Number : 76 Question Id
Correct Marks : 2 Wrong Marks : 0

10 then which is the mean of last four scores?

: 34212314606 Question Type : MCQ Option Shuffling : No

Txx+d x+7 20+ 5, x+ 10 BITHM 10 1 ol 3AdH IR IHR & R HA AP

9

4.11.5

Options :
1.1
2.2
3.3
4.4

Question Number : 77 Question Id
Correct Marks : 2 Wrong Marks : 0

: 34212314607 Question Type : MCQ Option Shuffling : No



If N= 10 and rank order correlation (P, rho)= 0.80, then, which is the value of €d%?
1. 32
2.3
3.34
4.36

Options :
1.1
2.2
3.3
4.4

Question Number : 77 Question Id : 34212314607 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

3 N= 10 Ud ¥ TS g T (P, rho)= 0.80 TP £d2 BT Tl T I

L33

[z

Lt

LS

.34
4. 36

Options :
1.1
2.2
3.3
4.4

Question Number : 78 Question Id : 34212314608 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



A cricket coach compared 3 training groups having 10 players in each group by using one way
Analysis of variance (ANOVA). Results revealed sum of squares between groups (ss);=134.6 and

sum of squares within groups (ss)=110.1. Which is the value of F-ratio?
1. 15.60
2. 16.60
3.16.05

4.16.50

Options :
1.1
2.2
3.3
4.4

Question Number : 78 Question Id : 34212314608 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

UG fobche i = 3 TRIT T foraieh Wl g 10 RGeS 4, Tl =Rl b faerwur o
TS TP Y G 1 TR S Ul =l e g1 o Hel (TH TH) b T 1 W19 =134.63(R
TR (ss),, M BT oG =110.1 81 UH-39 01 9e0 1 52

1. 15.60
2.16.60
3.16.05

4.16.50
Options :
1.1
2.2
3.3
4.4

Question Number : 79 Question Id : 34212314609 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



An unscientific method of problem solving is

1. Ethnographic

(i)

. Tenacity

(el

. Naturalistic

4. Reductionism
Options :
1.1
2.2
3.3
4.4

Question Number : 79 Question Id : 34212314609 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

AW AU BT 0P e gafde
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. ge
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4. AP

Options :
1.1
2.2
3.3
4.4

[

Question Number : 80 Question Id : 34212314610 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following is not a Analytical Research?

1. Philosophical

(i)

. Historical

(el

. Case studies

4. Reviews
Options :
1.1
2.2
3.3
4.4

Question Number : 80 Question Id : 34212314610 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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RUGHIRED
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Options :
1.1
2.2
3.3
4.4

[

Question Number : 81 Question Id : 34212314611 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



In standard normal distribution of a normal curve has a mean of  and a standard deviation of

l.land 0
2.0and0
3.1 and |

4.0and |

Options :
1.1
2.2
3.3
4.4

Question Number : 81 Question Id : 34212314611 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
U YA 95 S BTHS T TR T HE . gARAFD R g
1.1TE0
2.0w0
31wl
4,0

Options :
1.1
2.2
3.3
4.4

Question Number : 82 Question Id : 34212314612 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



When the null hypothesis is accept and symbolically we can express as

L 1= upg

]

M F Ui

(e

- 1= UHo

4. 1=l

Options :
1.1
2.2
3.3
4.4

Question Number : 82 Question Id
Correct Marks : 2 Wrong Marks : 0

: 34212314612 Question Type : MCQ Option Shuffling : No
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L= g,
2 0F gy
3.0 iy
4. 1< g

Options :

1.1

2.2

3.3

4.4

Question Number : 83 Question Id
Correct Marks : 2 Wrong Marks : 0

: 34212314613 Question Type : MCQ Option Shuffling : No



Scramble 1s a test item of which test?

1. Newton Motor ability test

(i)

. Scott Motor ablity test

(el

. Indiana Motor Fitness test
4. Barrow Motor ability test

Options :
1.1
2.2
3.3
4.4

Question Number : 83 Question Id : 34212314613 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Thiad fhd UREU &1 Udh TREU U g2
g AT &HdT TiRe

—

. TpTE HIeX YHd1 TRe0
3. SfSTAT AR ey uiequr
4. SR Al & TReU

Options :
1.1
2.2
3.3
4.4

[

Question Number : 84 Question Id : 34212314614 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following refers to the degree to which performances on a test correspond to the
abilities or traits that the test purports to measure?

. Differential validity
2. Content validity
3. Concurrent validity

4, Construct validity

Options :
1.1
2.2
3.3
4.4

Question Number : 84 Question Id : 34212314614 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Tt e a2

MEHEAUEE
2. fqwaaw] derdl
3, WEPRI el

3. Fmfor e

Options :
1.1
2.2
3.3
4.4

Question Number : 85 Question Id : 34212314615 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which evaluation is usually based on specific objectives and utilizes criterion referenced
standards?

L. Subjective evaluation
2. Objective evaluation
3. Summative evaluation

4. Formative evaluation

Options :
1.1
2.2
3.3
4.4

Question Number : 85 Question Id : 34212314615 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

& W Hedih TRy faR Sl SR SUaifilal AH® AHcel W 3HiRd g2
|. FRTRS TelibH
2. TIB Al
3. T Gedid

4. TS HedldH

Options :
1.1
2.2
3.3
4.4

Question Number : 86 Question Id : 34212314616 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



If in a test of 50 items with mean of 30 and standard deviation of 6, which will be the reliability
of the test?

1.0.86
2.0.69
3.0.78

4.0.68

Options :
1.1
2.2
3.3
4.4

Question Number : 86 Question Id : 34212314616 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

q1¢ 30 & AL & 50 7l & W H 3R AHS R 6 38 a1 WIS B [a4@-ad] 71 ghie

1.0.86
2.0.69
3.0.78

4.0.68

Options :
1.1
2.2
3.3
4.4

Question Number : 87 Question Id : 34212314617 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which tvpes of leaders use contingent reinforcement in management?

|. Transactional Leaders

[-2

. Transformational Leaders

LS

. Bureaucratic Leaders

4. Democratic Leaders
Options :
1.1
2.2
3.3
4.4

Question Number : 87 Question Id : 34212314617 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Y UHR & AdrT0] a=H H ATH RS G- BT TR Hd g2
1. B FuTe-i1g a1

RSl GRUCANER]

3. HTYBTRD-dd AT

4. BTG AdT

Options :
1.1
2.2
3.3
4.4

[

Question Number : 88 Question Id : 34212314618 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Effectively integrating various human, financial and material resources to accomplish a plan is
known as

. Planning
2. Organizing
3. Directing

4, Evaluating

Options :
1.1
2.2
3.3
4.4

Question Number : 88 Question Id : 34212314618 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fafers T faxdia SR Tl Gidl o FsareH | guTd] Th il dioH] &l S oifell §
RICEICEIE]

RIEG]
3 FERId H1
4, HeTIda AT

Options :
1.1
2.2
3.3
4.4

Question Number : 89 Question Id : 34212314619 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Amount of resources used as considered in relation to the organizations level of goal attainment
iscalled .

. Organizational efficiency
2. Organizational effectiveness
3. Organizational achievement

4, Organizational Leadership

Options :
1.1
2.2
3.3
4.4

Question Number : 89 Question Id : 34212314619 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T3l &b TR IR A4 Wit g Fidi & I & 9 1§ fgeR0 Hgdldi g
1. GITEATEHD DRI PRI (ST
2. GITEATHS THTIRINT

3. GIEATHD Ul

4. YIEATHD

Options :
1.1
2.2
3.3
4.4

Question Number : 90 Question Id : 34212314620 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



First line managers are also known as

1. Top Level managers

(i)

. Middle-Level managers

(el

. Supervisory-Level managers

4. Executive-Level managers

Options :
1.1
2.2
3.3
4.4

Question Number : 90 Question Id : 34212314620 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

AU & Uded! B fog =0 H SMT Sl g

1. MY &R & UdeSH

(g

ARG Uded
3. THADHIT TR & Udeldh

4. PIUUTAD TR I Jd4DH

Options :
1.1
2.2
3.3
4.4

Question Number : 91 Question Id : 34212314621 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



As altitude increases the decrease in air temperature is accompanied by

A. Water loss decrease

B. Increase sweat evaporation

C. Increased respiratory water loss

D. Dehydration through increased insensible water loss

Choose the correct answer from the options given below:

1. B, C, D Only

[-2

. B, C Only

L

. A, C Only

4. A, B, D Ouly

Options :
1.1
2.2
3.3
4.4

Question Number : 91 Question Id : 34212314621 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

S-S 3dTs dedl 6, a1 dYHE & 914 I8 Hi gedi g

A. Id &l HHI gedl §

B. Wq arigRU §¢dl o

C. 91 49 5T § HHI eIl ©

D. feleH U 9feTd s Sa g gl ©

=< feu e faoeal A 9 Odt S9% &1 994 DIfeIt:
I.$dd B, C.D
2. HddAB, C
3.HAdA, C
4. HAdA, B, D

Options :




1.1
2.2
3.3
4.4

Question Number : 92 Question Id : 34212314622 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The rotator cuff is a hood like convergency of tendons around the head of humerus from which of
the following muscles?

A. Subscapularis

B. Teres minor

C. Supraspinatus

D. Lattissimus dorsi
E. Infraspinatus

Choose the correct answer from the options given below:

[.A B, EOunly
2.A,B,DOnly
3.A.B.D.E Only

4.A, B, C.E Only

Options :
1.1
2.2
3.3
4.4

Question Number : 92 Question Id : 34212314622 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



%Uﬁwmmﬂﬁﬁ@@wﬁsmwﬂﬁﬂﬁaﬂ?maﬁaﬁwﬂw AR

A, RGHIRY
B. SV AIEN
C. guiarey
D, iedAmy g
E. 33pIHCY
AT faw T foaeal & 9 et S 91 904 DifiT:
|, H9d A, BIRE
). $ad A, B IR D
3. $dd A,B.D IRE

4. AdA.B.C 3R E

Options :
1.1
2.2
3.3
4.4

Question Number : 93 Question Id : 34212314623 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following parameters influence the form drag?

A. Relative mass

B. Form drag coefficient

C. Relative velocity

D. Frontal surface area

E. Squared relative velocity

Choose the correct answer from the options given below:

1. A, B.D Only

(o

A, C,E Only

5]

.B.D. E Only
4. A, B, C Only

Options :
1.1
2.2
3.3
4.4

Question Number : 93 Question Id : 34212314623 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

I ST DI UUTd B arel (9§ Y SH Y A1ue s §2
A. gUg Alg
B. BIH S Uld
C. gTug g1

D. 3FIdd 1T
E. dHR TTU& 9T

== fu 7Y faoeTl & 9 |81 IR &1 999 Difeig:
1.HdAA.B.D

AT A, C.E

$Hdd B, D, E

4. PAAA. B, C

(]

L]



Options :
1.1
2.2
3.3
4.4

Question Number : 94 Question Id : 34212314624 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following equations used to assess the projectile motion?

A.V=u-+at

B. VZ=u?+ 2as
C.5=ut+ % at
D. V= As+At

E. myvi= myv,

Choose the correct answer from the options given below:
1. A.B Only
2. A, B, C Only
3.A,B.C,DOaly

4. A.B.C,D,E Only

Options :
1.1
2.2
3.3
4.4

Question Number : 94 Question Id : 34212314624 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



fafcifad # 9 foo g TR &l Ueiue i & Sider o Wl fobdr oirel 62

A V=u+at

B. V‘:‘= 11:2 + 2as
C.5=ut+ ' at
D. V= As tAt
E. myvi= myvy

g o 7o foeeal © © UEl ST & 9 S
|.Hdd A, B,

2. BAAA. B, C
3. Hdd A.B.C.D
4 HAd A, B.C.D.E

Options :
1.1
2.2
3.3
4.4

Question Number : 95 Question Id : 34212314625 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following examples in sport psychology are related to social psychology approach?
A. Aggression
B. Motivation
C. Team Cohesion

D. Imagery
E. Skill acquisition

Choose the correct answer from the options given below:

[.A, C,E Only
2. A, COnly
3.B.C.D Quly

4.C,E Only



Options :
1.1
2.2
3.3
4.4

Question Number : 95 Question Id : 34212314625 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ﬁaﬁ‘fg@mmswﬁéﬁmwﬁaﬂﬁmwﬁr}%ﬂﬁﬂwmq@
GG

A. HhHdd]

B, IRUT

¢, 39 9gu

D. BIAHD

E. &1 (BI1cT) TRl

=t feu T foaeal @ & 9ot 3w o1 991 Difvie:
1. AT, C.E
2. B A, C
3. 4B, C,D
4. C.E

Options :
1.1
2.2
3.3
4.4

Question Number : 96 Question Id : 34212314626 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which types of factors affect the cohesiveness of a team according to carron?

A. Individual factors
B. Situational factors
C. Team factors

D. Coaching style

E. Leadership

Choose the correct answer from the options given below:
1.A, B, COnly
2.B.C,E Only
3.C,D, E Only
4. A B,C,E Only

Options :
1.1
2.2
3.3
4.4

Question Number : 96 Question Id : 34212314626 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

$¢ & IR b4 UHR & BRD U & Bl SYfdaiieid] bl GHIfdd Hd 6?2

A, HfHTd HRD
B. TR PRD
C. Gld HRD

D. U&7 2eit
E.qd

it fq T faeedt & & gt SR 31 94 Difre:
| $HAdA. B R C
2. HdAB, C AR E
3. 990 C, D ARE
4. BT A, BC IRE




Options :
1.1
2.2
3.3
4.4

Question Number : 97 Question Id : 34212314627 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Examples of psychological skills include

A. Self talk

B. Goal setting

C. Self confidence
D. Mental toughness
E. Anxiety control

Choose the correct answer from the options given below:
1.A, C,D Only

2:C, D, E Only

e

. A, B, E Only
4. B, D, E Only

Options :
1.1
2.2
3.3
4.4

Question Number : 97 Question Id : 34212314627 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



HAIgie BRI & ITgRUN H HiFHfId -

A THYAIG
B. 7&d YR
C. 3fTH-fayr™
D. U €@l
E. gi4d1 g

== fu 7Y faaeTl & ¥ |5t IR &1 99 Difeig:
1.Hdd A, C 3R D

Had C,D 3R E

. HAd A, B3IRE

4. $adB, D ARE

Options :
1.1
2.2
3.3
4.4

(]

(]

Question Number : 98 Question Id : 34212314628 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Purpose of curricular evaluation includes

A. Program effectiveness

B. To identify program omissions

C. Program justification

D. Employment opportunity of the program
E. Reduce the evaluation cost money

Choose the correct answer from the options given below:

1.A, C,D Only

(o

. A, B, C Only

5]

.C, D, E Only

4. A, B, E Only



Options :
1.1
2.2
3.3
4.4

Question Number : 98 Question Id : 34212314628 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

gredaR 4R & yaie | giffed ¢-

A. BIUHH UHTEHIR]

B. B H H I (Il B UgdM Bl
C. DHT &I 3™

D. DA & A Id SR & IR
E. dNTd ¢4 & Gedichd § S8l HAT

== fau e faoeal & & 951 SR &1 994 DIft:
. $Hdd A, C.D

2. HdAd A.B. C
3. HdAdC.D.E
4. H9dAA.B.E

Options :
1.1
2.2
3.3
4.4

Question Number : 99 Question Id : 34212314629 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



The advantage of ground water are :

A. It usually requires no treatment

B. It is high in mineral content

C. It is likely to be free from pathogenic agents
D. It requires pumping to lift the water

Choose the correct answer from the options given below:

1.B, C, D Only

[

. A, B, C Only

(5]

.A. B Only

4. A, C Only

Options :
1.1
2.2
3.3
4.4

Question Number : 99 Question Id : 34212314629 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Yold o AT ¢

A. 3U YHERIT [HY UHR DI YBT3 (SIeHe) Bl SRewd gl ISl o
B. 394 3 UHR & Wi U oIld ©

C. U8 YYad: ATdd dedl Y Gekd I8l ¢

D. 39 d &I T Y I8 P oRexd gldl ©

1< feu v faoeal & T 9et I9) &1 904 PIfT:
|.$dd B, C. D
2. I A, B, C
3. A, B
4. HAAA, C

Options :




1.1
2.2
3.3
4.4

Question Number : 100 Question Id : 34212314630 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following are zoonotic diseases?

A. Plague

B. Chikungunya fever
C. SARS

D. Rabies

E. Yellow Fever

Choose the correct answer from the options given below:

1.A, C,D, E Only

[

A, C,D Only
3.A.B.D. E Only
4. A, B, D Oaly

Options :
1.1
2.2
3.3
4.4

Question Number : 100 Question Id : 34212314630 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



fafaRad ¥ 9 &H SHIfed SHial g
A T

B. &A1 §@R
C. UHUSRUY

D. Yallef

E. Uld @R

== fu 7Y faaeTl & ¥ |5t IR &1 99 Difeig:
1.HdA A, C, D, E

HAd A, C,D

. HdA A, B,D,E

4. $Hdd A, B.D

Options :
1.1
2.2
3.3
4.4

[

(]

Question Number : 101 Question Id : 34212314631 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following training effects are part of the cooper's training effect categories?
A. Involution
B. Overreaching
C. Minor

D. Maintenance
E. Positive

Choose the correct answer from the options given below:

l. A, B, COnly
2.C,D, E Only
3.C,B,AOnly

4.B, C,D Only



Options :
1.1
2.2
3.3
4.4

Question Number : 101 Question Id : 34212314631 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

e # 8 I T WiRI&T THTS U TRIE0 THId BT 410t & 4 ¢

i fau 7t foaedl # T I 9% &1 904 DIfT:
|.$Hdd A, B, C

2. Hdd C.D.E
3. HAdC.B.A
4. HIAB. C.D

Options :
1.1
2.2
3.3
4.4

Question Number : 102 Question Id : 34212314632 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



What are the three types of mesocycle- blocks given by Issurin & Kaverin?

A. Developmental
B. Accumulation
C. Transformation
D. Realization
E. Restorative

Choose the correct answer from the options given below:
1. A, C,E Only
2.B, C, E Only
3.B, C, D Only
4. A, B, C Only

Options :
1.1
2.2
3.3
4.4

Question Number : 102 Question Id : 34212314632 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

YR Ud BIARA §RTed diF YR & HYIHEDHd sildy $I 82
A. TabTeiid
B. 9d44
C. TR
D. 9y
E. T QI
A feUu U faaeyl § U U1 3R &1 99 DI
. PAd A, C. E
2. HAdB, C. E
3. ®Hdd B, C.D

4. FHIAA. B. C




Options :
1.1
2.2
3.3
4.4

Question Number : 103 Question Id : 34212314633 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following statements are correct about Multiple Correlation?

A. Multiple correlation can be used to select the test battery which is composed of the test items
that correlate lowest to the criterion and highest with one another.

B. Test item that correlate highly with another one is considered to be measuring the same thing
and is therefore superfluous.

C. If two test items are formed to be highly related, the one that correlates lowest with the
criterion is selected.

D. If these are considerable number of test items multiple correlation process select least no of
items to comprise the test battery.

E. Regression equations can also be used to predict an individual performance based on the
scores on the selected items.

Choose the correct answer from the options given below:

1.B, D, E Ounly
2.A,C,D,E, Only
3.B.C,D,E Only

4.A,B.D.E Only

Options :
1.1
2.2
3.3
4.4

Question Number : 103 Question Id : 34212314633 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



950 WeHeY & R T Y T Y B W PY

A. S GgUaY 1 8 o TS0 o T g Wl o off e o O odlegmn e @
TR b T § ) U G @ 1Y Y BIC Y Tl AU T Y gl §

B. (I 7S Wl R ¥ 3 YR ¥ Wl g1 g, 9 WHI o o HIOHT AT Il § U
W:%W%

. 3¢ &1 Wien e o YEgelg U0 ol ¢, SO § U off §e oW ATUGS Y WEHeg g,
SREIEUEKGIE

D. Afc; TEIT Hel 1 T TR H a5l Wewa ol dl T §cdl &1 4 H HH U 5
Tl 1 T {1 Wl §)

E. WIcTo Sl bl Ui Hal o ¥R o SR TR G4 f-1e o R bl ¢
g Aft T fobe o Wl €

e few U foedl # U ) SR &1 90 i
. $Id B, D, E
). HAd A, C,D.E
3. $9TB,C,D,E
4. HIAAB.D.E

Options :
1.1
2.2
3.3
4.4

Question Number : 104 Question Id : 34212314634 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following are correct about the characteristics of Normal Curve?

A. The curve is asymptotic towards the base line.

B. The Quartile deviation of normal distribution is 3/2.
C. The point of inflexion of the curve is given by o+
D. Total area of normal curve is considered to be 100%.
E. Limit of u-c to u +o covers 68.26% area.

Choose the correct answer from the options given below::

1. A, C,E Only
2.A,B.D,E Only
3.4.C, D EOnly

4. A, D, E Only

Options :
1.1
2.2
3.3
4.4

Question Number : 104 Question Id : 34212314634 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

YA dch Wl & [9Ryarsfl & 9R H FEiiad # I &H 9l g7

A. U8 dgh 3T STYR W B! 3R d&UIMgd g

B. UM R &1 Iqdd ATMR0132 8

C.dp M BT HIS fdg Dl o UiGAT AT

D. YT dch 341 & il & Bl 100% THET TS
E.puc Hp+o @I UMHAN 68.26% &7 DI [T Dl o

i few 7o faeeal & O 98t 9= &1 99 Fife:
I.PAdA, C,E

HAdA.B.D.E
3. hddA. C.D.E
4. PddA.D.E

b3



Options :
1.1
2.2
3.3
4.4

Question Number : 105 Question Id : 34212314635 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following are comes under informal design?

A. Before-and-after without control
B. After-only control

C. Latin square design

D. Before-and-after with control

E. Completely randomized

Choose the correct answer from the options given below::

1.B, C, E Only

b3

. A, B, C Only

[

C,/D, E Only
4. A, B, D Oaly

Options :
1.1
2.2
3.3
4.4

Question Number : 105 Question Id : 34212314635 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



fAfeRad 9 19 U 3HIYAIRG [36lig- & 3fdild 211d g2

A, Td- 3R-uyq Fa-ur Igd
B. UYId-hdd Ha=al

C. died R f&usA

D. Td- 3{R-UYIq Fa-ur gigd
E. Juid: Aefesdh

AT ST U f9aedl | O Ugl 3R &1 99 BIfIU:

1.$hdd B, C.E
2. HAd A, B, C
3. $Hdd C, D, E
4. Hdd A, B.D

Options :
1.1
2.2
3.3
4.4

Question Number : 106 Question Id : 34212314636 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



The characteristics involves to solve a research problems are

A. Reductive
B. Replicable
C. Empirical
D. Delimitation
E. Limitation

Choose the correct answer from the options given below:

1. A, B, C Only

(]

.B, C, D Only

5]

.C, D, E Only
4. A, D, E Only

Options :
1.1
2.2
3.3
4.4

Question Number : 106 Question Id : 34212314636 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

e G $1 g B & fou gieferd faQvand g

A, O]
B. TRIGd-1Y
C. ATHTdH
D. UidHA
E. UE-fAeRor
AT fu U fddedl | U Ut 3 &1 994 DI
|.Bdd A, B.C
HddB.C.D
HAddC.D.E

4. PdAA.D.E

(]

L]



Options :
1.1
2.2
3.3
4.4

Question Number : 107 Question Id : 34212314637 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In SPSS “Variable views” of the data editor the columns has the following label.

A. Name

B. Width

C. Transform
D. Decimals
E. Add-one

Choose the correct answer from the options given below:
1. A, B, C Only
2.A,B,D Only
3. A, B, E Only
4.B, D, E Only

Options :
1.1
2.2
3.3
4.4

Question Number : 107 Question Id : 34212314637 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



TqUiuguy |, grel Yued o <ok €39 H DIaR W HgidRad 3id- gidl o-

=i 6T U fqaedl § § 91 TR 61 99 DIT:
1. $hdd A, B, C
2. Hdd A, B,D
3. Hdd A, B, E
4. Hqd B, D, E

Options :
1.1
2.2
3.3
4.4

Question Number : 108 Question Id : 34212314638 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following statements are correct for standard scores?

A. Mean of standard scores 1s 0.

B. Standard deviation of standard scores is 1.
C. Standard scores 1s free from units.

D. Limits of standard scores are =2

E. Standard scores are always positive.

Choose the correct answer from the options given below:

1.A, B, C. EOgly

(o

. A, B, C Only

5]

. B, C, D Only

4. A, B, D Only



Options :
1.1
2.2
3.3
4.4

Question Number : 108 Question Id : 34212314638 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

HH® UIdic| o foru FgfeRad eyl § o119 9 Ugl 52

A. HH® UTdich] HTHE 0 B

B. U Uil &1 AH® fddeH 1§
C. A Ui Shigdi ¥ g gld g
D. HH® UIkdich] Bi GIHTE <2 Bkl &

E. HFS Ui Uad Y1dS 8id ©)

A fau U f9gedt H O 9gl 3R &1 9894 BHIfIU:
1. $dd A, B, C,E

2. HdAd A.B. C
3. HddB.C.D
4. Pdd A. B.D

Options :
1.1
2.2
3.3
4.4

Question Number : 109 Question Id : 34212314639 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following statements are not correct?

A. Norm referenced standard is concerned with the degree to which a student has a level of
competence.

B. Criterion referenced standard is based on statistical procedures.

C. Criterion referenced standard is not used to judge an individual's performance in relation to
others of the same age, sex and abulity level.

D. In criterion referenced standard the coach would motivate the player to strive for the highest
percentile before the next testing.

Choose the correct answer from the options given below

1.B, C,D Only
2.A,C,DOnly
3.A.B.D Only

4. A, B, COnly

Options :
1.1
2.2
3.3
4.4

Question Number : 109 Question Id : 34212314639 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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B. AFGUS gfiid A TRy Hiharaf W 3emd gl ¢

C. HIFGUS YaTid A &l W G 34, [T 3R Gad] & 34 afdeqdl o e H U
afdd & TG &1 U S & foft g1 T ol &

D. HHGUS Yefiid A H ufie Rers! Bl 3Tel TRIe0l ¥ Ud Gafed Wi o fog e
B & el UIcfed dell 6

w1 fe g fael! # 4 e} SR 1 T BT
1. BB, C.D
2. HITA, C,D
3. B4 A, B, D
4. A, B, C

Options :
1.1
2.2
3.3
4.4

Question Number : 110 Question Id : 34212314640 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following are correct about Sports Anxiety Scale-2 (SAS-2, 2006)?

A. SAS-2 consists of 21 items.

B. SAS-2 items assess somatic anxiety, worry and concentration disruption.
C. All items are scored on a 4 point scale.

D. No item has reverse scoring.

E. SAS-2 has seven items for each scale.

Choose the correct answer from the options given below:
1.A,B,C E Only
2. A B.E Only
3.B, C,E Only
4.B, C,D Only

Options :
1.1
2.2
3.3
4.4

Question Number : 110 Question Id : 34212314640 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frafaRad o 9 &l ¥ e gf4dr TaHT -2 (THUTY -2, 2006) & o8 Tg1 ¢
A TUUUY 2521 7S &
B. TYUTY -2 Tc B g%, fefdT 3R ST b1 Jedid Hd g
. g 7l ® 4195 THH W THR PR 8.

D. ThIRIT HGl B YR DISRIET BT
E. TUUUY -2 H Udd SU-UAH & et 7 /G ©

=t faT T fageal & & T8t IR 31 997 DI
1. HddA, B, C,E
2. HIAA, B.E
3. $dd B, C.E
4. HIdB,C,D




Options :
1.1
2.2
3.3
4.4

Question Number : 111 Question Id : 34212314641 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Find the correct sequential rank order of teams in the Khelo India Winters Games in 2024

A. Uttarakhand

B. Karnataka

C. Indian Army

D. Maharashtra

E. Himachal Pradesh

Choose the correct answer from the options given below:
I.LAJE,C,D,B
2.B;D,C,AE
3CB,DEA
4. EAD.C,B

Options :
1.1
2.2
3.3
4.4

Question Number : 111 Question Id : 34212314641 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



2024 H SIS Well 2137 fawex Wall | Al & 9ull o S Ug! b
A. JTIRIES

B. BHIcH

C. YR T

D. TERTE

E. fgaEa uew

A feu U f9aeul # O U 3R &1 994 BINIT:

1.AE, C,D, B

I3

B, D AE

L

G B, D E A

4 E.AD,C.B
Options :
1.1
2.2
3.3
4.4

Question Number : 112 Question Id : 34212314642 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the host states of Khelo India Youth Games in ascending order.

A. Maharashtra
B. Harvana

C. Assam
D. New Delhi

Choose the correct answer from the options given below:

1.A,B,C,D

[-2

B, DA C

L

CoABD

4.D,A,C,B

Options :



1.1
2.2
3.3
4.4

Question Number : 112 Question Id : 34212314642 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Wl 331 gd1 Wl & Aieid ATl &l 9¢d §Y Y T T
A. HeRTE
B. gRAmn
C. 390
D. T3 ol
A1d feu U f9aedl & 9 981 SR &1 98 DT

1A B, C.D

[

B DA C

(8]

A B D
4.D,A,C,B

Options :
1.1
2.2
3.3
4.4

Question Number : 113 Question Id : 34212314643 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Arrange the stages in endochondral ossification occurring in a long bone.

A. Cartilage in the center of the diaphysis calcifies and then cavities

B. The periosteal bud invades the internal cavities and spongy bone forms
C. The epiphyses ossify

D. Formation of bone collar around hyaline cartilage model

E. The diaphysis elongates and medullary cavity forms

Choose the correct answer from the options given below:

1. IVA B E,C
L& B E D C
3D, CABE
4.C,D,B,AE

Options :
1.1
2.2
3.3
4.4

Question Number : 113 Question Id : 34212314643 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T ol 551 H g arcl Seidica SRim g & Rl &l afed &

A, ST TG HamIey & b 1 difefes Ud diadiv gHl

B. U3 SdS Sfiaie Hiadiel T Sha0 dxdl § 3R Wiell gleat ffd ol §
C. 3fUTYS fHelfd/@aR &1

D. TR Hiicias Algd & AU SH-BIeR 1§41

E. SR 96 § 3R el $idei adi &

i TG T fogedt # U g1 SR &1 95 HI:

1. D,AB;E, C

2ABEDE
3.0.CABE

4.C,D,B,AE



Options :
1.1
2.2
3.3
4.4

Question Number : 114 Question Id : 34212314644 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Wirite the steps of a qualitative Bio-mechanical analysis.

A. Observation
B. Instruction
C. Description
D. Evaluation

Choose the correct answer from the options given below:

1.B,D,A,C

2.C.D, B, A

L]

CA DB

4.A,B,D,C

Options :
1.1
2.2
3.3
4.4

Question Number : 114 Question Id : 34212314644 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Uh HATHS SAHG MG [9Y0 & HeHl B Jeoikd b
A. TUd&U
B. 3G
c. faaqor
D. HAIHHA
T ST U f9aedl § O 98l 3R &1 99 SINU:

1B DA

2.C. DB A
3.C,A,D;B
4.A,B.D,C

Options :
1.1
2.2
3.3
4.4

Question Number : 115 Question Id : 34212314645 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Find the correct sequence of stages in learning of behavior proposed by Bandura.

A. Reproduction
B. Retention

C. Attention

D. Reinforcement

Choose the correct answer from the options given below:
LGB B
2.B,C,AD
3CD,BA

4.C,B,A,D

Options :
1.1



2.2
3.3
4.4

Question Number : 115 Question Id : 34212314645 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T §RT UIfad deR & A H TRl &1 Uel 6 H F1d $i-

A. GTvdIgA
B. Ui
C. & &l

D. GHdcH
T fSU U f9aedl § O 98l 3R &1 99 PIIU:

1L.C.B, DR

-2

B C.A D

(4

AL BB A
4.C,B.A.D

Options :
1.1
2.2
3.3
4.4

Question Number : 116 Question Id : 34212314646 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Find the correct order of a five stage model of athlete self-regulation developed by Kirschenbaum

A, Problem identification

B. Execution

C. Commutment

D. Generalization

E. Environmental management

Choose the correct answer from the options given below:
1.B.C.A.DE
A CRED
3.ABEC,D
4.C,A,BE,D

Options :
1.1
2.2
3.3
4.4

Question Number : 116 Question Id : 34212314646 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

e gi7a g1 fap R wyeile 3ffe-FEam o Uie-aRu UieRey & gl 6 @1 UgaH e-

A, THE1 Bl GgdH
B. DG

C. Uidegdl

D. GHATIAT

E. TOIaRUTg e

Al e 70 faaed] # 9 U1 ST &1 95 S
1.B,C,A,D,E
2ACBED
3.A.B.E.C.D

4.C,A,B,E,D



Options :
1.1
2.2
3.3
4.4

Question Number : 117 Question Id : 34212314647 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Identify the correct sequential order of the skill theme approach in Physical Education.

A, Skill in contexts

B. Combinations

C. Basic skill

D. Culminating activity

Choose the correct answer from the options given below:

[.B,C,A.D
2.C.D.B.A
3ABGD

4.C,B,A,D

Options :
1.1
2.2
3.3
4.4

Question Number : 117 Question Id : 34212314647 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



QRN 180§ DI [qgae] SUFH (bl 1 31T o Tg) SFhH Pl UgdiH de-

A G H DI
B, YgIoH

C. §f1e] PIve
D. IR 7Y

A Tqu T fogedl | 9 g1 SR &1 994 Bl

I.B,C,A,D

2.C,D,B,A
3.A,B.C.D
4.C,B,A,D

Options :
1.1
2.2
3.3
4.4

Question Number : 118 Question Id : 34212314648 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Write the first aid steps followed for snake bite as per the Government of India protocol 2007.

A. Do not give alcoholic beverages

B. Immobilize

C. Do not manipulate the bitten site

D. Do not apply any compression

E. Transport the patient to a medical facility.

Choose the correct answer from the options given below:

I.LA,C,D,B.E
2B, DACE
3B ACD.E
4.C,AB,D,E

Options :



1.1
2.2
3.3
4.4

Question Number : 118 Question Id : 34212314648 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

YR TR & 99 2007 & IR G & Blee & felt urer iU 9 aret wfid
AR & HeHl Bl ford

A SUPE Achiga aa TG S

B. TidgH &R &l

ORI ARUGE

D. Bl Gy 7MY _,

E. felfded gfden b fofu Xl ol reeliel o Se

AT fqu U fogeat © 9 g1 SR &1 99 DIl

A, C.D,B,E
2.B,D,ACE
3.B.A,CD.E
4.C,AB,D,E

Options :
1.1
2.2
3.3
4.4

Question Number : 119 Question Id : 34212314649 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Write the correct sequential order of training factors in the bottom up approach of a training
factors pyramid.

A. Technical training

B. Tactical training

C. Physical training

D. Psychological and mental training

Choose the correct answer from the options given below:

I.B,C,A,D
2.D,A,B,C
3.CABD
4.CB.AD

Options :
1.1
2.2
3.3
4.4

Question Number : 119 Question Id : 34212314649 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ol gieT SR RIS & I SURTH & URIe0 $Reb! Bl G5l BIapa 1
IR DT

INGGRICAR E L

B. IR TiRI&m
C. RIS TiI&

D. FAIGRI-d Ud HHRS Uiiem
14 feu U fodedl § € g I &1 954 DIl

.B,C,A,D

2.D,A,B,C
3.C,A,B,D

4.CB,A,D



Options :
1.1
2.2
3.3
4.4

Question Number : 120 Question Id : 34212314650 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Write the steps while developing sampling design.

A. Size of sample

B. Sampling unit

C. Source list

D. Parameter of interest
E. Types of universe

Choose the correct answer from the options given below:
1.E.B. .51

2.B,C, A D.E

[

.C,A,D.E.B
4. A B EBC

Options :
1.1
2.2
3.3
4.4

Question Number : 120 Question Id : 34212314650 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Uil fSusd & fdbry & =Rl &f ford-

A. UTdeRl &1 3dR
B. Ufdazit 3@

C. |id gl

D. 3fddHI AMCS

E. Y4id99d® & UbR

A feu v f9aeyl § O Ugt 3R &1 994 DI

LBy B Gt T

(]

B, CADE

L

AR IVE B

4. A D, E B, C
Options :
1.1
2.2
3.3
4.4

Question Number : 121 Question Id : 34212314651 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Write the correct sequence for developing likert-type scale.

A. Five point scale for sourcing

B. Trail Test

C. Correlated statement in instrument

D. Large number of statement

E. Find statement have high discriminatory power

Choose the correct answer from the options given below:

LA E B, D C

(]

DBACE €

5]

D, E,B.AC

4. B, ADEC



Options :
1.1
2.2
3.3
4.4

Question Number : 121 Question Id : 34212314651 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Adgde- UbR UHH o 961 & Yol hH &l ford-

A. 3l ¢ & o0 5-fa THrr

B. ¢l GRI&UI

C. IUHRU H Yggrai=id HUA

D. ol W& H By

E. 3 [a¥eIdd/ [qHeHdd Y-l &l UgdH

A fau U f9gedt H O 9gl 3R &1 9894 BHIfIU:

1. A EB.D.C

[

D, BAE C
3. D E B A C

4. B. A D,E,C
Options :
1.1
2.2
3.3
4.4

Question Number : 122 Question Id : 34212314652 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Find the correct sequence of the following sports skill tests in ascending order according to the
year in which these were constructed/ published

A. Poole Badminton test

B. Hewitt Tennis achievement test
C. AAHPER volleyball test

D. French short serve test

E. Knox Basketball test

Choose the correct answer from the options given below:

I.D,E.C,B.A
2.D,B,E,C,A
3.E,D,B,C,A

4.D,E,B,C,A

Options :
1.1
2.2
3.3
4.4

Question Number : 122 Question Id : 34212314652 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



gmmwmammm..-wﬁaﬁ$ 3FHR W SIRIE] b9 H gaied

A. Td o5 fHed wie

B. plde 2 afigHe wiem
C. TUTUIS R arciiaid T
D. 159 ¢ 94 Wem

E. A5 Rdedid WiE

I feu e faedl H 4 96t SR &1 T Biivi:
I.D.E.C,B.A
2.D,B,E.C.A
3. EDBCA

4.D,E,B,C.A

Options :
1.1
2.2
3.3
4.4

Question Number : 123 Question Id : 34212314653 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Sequentially arrange the following steps of item analysis:

A. Separate answer sheets into upper, lower and middle groups.
B. Record No. of frequencies in upper and lower groups.

C. Calculate Index of difficulty.

D. Score the tests.

E. Arrange answer sheets from high to low scores.

Choose the correct answer from the options given below:

LEBC, EAB

(]

B EAGH

5]

BAGE B G
4.D,E,A,B,C

Options :
1.1
2.2
3.3
4.4

Question Number : 123 Question Id : 34212314653 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

HE [deIyT &b =RUN &I Ul hH H AR -

A. 3=, 9 3R 0 & 948l ¥ gUd SIRUAD

B. 3= 3R 8 9ggi O 3{1qf &1 I BT g
C. Bidd Yadhich P U]

D. TI&UN & TU 3 1

E. 3 U 99 UIdich] H 3R TAH| &l SaRUd Bl

AT fSU U foaedl § O Ugl 3R &1 994 IS0

1D C EA B

(]

PLEALE.B

[F¥]

JINAE B, C

4D EA,BC



Options :
1.1
2.2
3.3
4.4

Question Number : 124 Question Id : 34212314654 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Write the correct sequential order of steps in the control process used by sports managers.

A. Reinforcing performance at or above expectations.

B. Analyzing and correcting deviation from the standards.
C. Accurately measuring performance.

D. Establishing performance standards.

E. Comparing performance with the established standards.

Choose the correct answer from the options given below:
LA B C DE
DG EBRA
3.ECADB
3.C.ADBE

Options :
1.1
2.2
3.3
4.4

Question Number : 124 Question Id : 34212314654 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



et elef g1 frromefi Wi + T fob off T o f#ep- 3G <Rl b1 g b H fer:

A. TG Qe R 31 I FRIe

B. HH®! U fqdcd! &1 Tg &1 AR fZayu &3
C. G 1 TP TI0 Sl

D. T&fcll AT | B RISl

E. QYT ! o §Y Gafell i gl el

AT fqu U faaedl H ¥ g T &1 98 P

.A,B,C,D,E

2.D,C,E,B,A
3.E,C,A,D,B

4.C,A,D,B,E

Options :
1.1
2.2
3.3
4.4

Question Number : 125 Question Id : 34212314655 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Find the correct sequential order of speed ability involved in sprinting events.

A. Acceleration ability
B. Locomotor ability
C. Reaction ability

D. Speed endurance
E. Movement speed

Choose the correct answer from the options given below:

1.AE,B. D C
ZEB.IDAC
3.C,E.A,B,D

4.CAEB.D



Options :
1.1
2.2
3.3
4.4

Question Number : 125 Question Id : 34212314655 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

R emare | 1ifd i &l 98l Bifd $H | g

A. TGRUTdT OTH

B. Al AR ((ATfd-[d9dd)) TrH
c. ufdfdrar gra

D. TTfd Yg-=Ifad

E. dIcl DI diddl
A fau U f9gedt H O 9gl 3R &1 9894 BHIfIU:

1. A EB.D.C

[

EBDAE

(5]

A E A B.D

4.4 BB D
Options :
1.1
2.2
3.3
4.4

Question Number : 126 Question Id : 34212314656 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List-I with List-IT

LISTI LISTII
Olympic Games opened by Host city

A |HM King Albert I I |Sydney (2000)

Sir William Deane II. | Seoul (1985)

B
C. | President Roh tae woo | III. | Antwerp (1920)
D. | President hu Jinto IV. | Beyng (2008)

Choose the correct answer from the options given below:

1. A-I. B-II, C-III, D-IV
2. A-1II, B-11, C-1IV, D-1
3. A-IIL B-I, C-1II, D-IV

4. A-II, B-IV, C-I, D-III

Options :
1.1
2.2
3.3
4.4

Question Number : 126 Question Id : 34212314656 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



A 1 1Y gl 11 61 i Hifse

A |ug o fBT el I |fEE (2000
B. | fafeoy €9 1. |fEre (1988
C. [Apufivg ey 1. |3fead (1920)
D. | pufd g fie Iv. | &S (2008)
i feu U fam el § U 1et IR &l 999 BT

I. A-I, B-II, C-IIL, D-IV
2. A-IL B-IL, C-IV, D-I
3. A-IIL B-I, C-IL D-IV
4. A-IL, B-IV, C-1, D-III

Options :
1.1
2.2
3.3
4.4

Question Number : 127 Question Id : 34212314657 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List-I with List-II

LISTI LISTII
Philosophical terms Focus
A |Existentialism | I | Self actualization and the development of value are emphasized
B. |Humanism II. |The individual more important than society
C. |Realism III. | Individual experiences determined what is true
D. |Naturalism IV. | Science reveals the truth

Choose the correct answer from the options given below:

1. A-L, B-II, C-IIIL, D-IV
2. A-IIL, B-1, G-IV, D-II
3. A-IV, B-II, C-III, D-1

4. A-II, B-I, C-IV, D-III

Options :
1.1
2.2
3.3
4.4

Question Number : 127 Question Id : 34212314657 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



eI ERSIPE: G CARERIEEAIEY

i 5

| AT L |3 YHaleul g1 3R 74 & [ W a2y 9k
gHadEe | I |6 999 St Heagu gl

gurfarg 1L |G &1 agfdad syl I FuRor

shfddig IV. |fa9 T=rs @1 Udhe B3l &

HId feu U fd@eul © U It 3R &1 994 BIG:

1. A-L, B-II, C-II1, D-IV

ola|w|s

2. A-IIL B-1, C-1IV, D-1I
3. A-IV, B-11, C-1II, D-I
4. A-II, B-1, C-1V, D-III

Options :
1.1
2.2
3.3
4.4

Question Number : 128 Question Id : 34212314658 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List-I with List-II

LISTI LISTII
Organs Sympathetic effects
A |Liver [ |Cause vasodilation
B. |Lungs II. |Stimulate secretion of epinephrine and norepmephrine
C. | Adrenal glands IT1. | Cause bronchodilation
D. |Heart: Coronary blood vessels | IV. | Stimulates glucose release

Choose the correct answer from the options given below:

1. A-I B-II, C-1IL D-1IV
2. A-IIL B-IL, C-L, D-IV
3. A-II, B-III, C-1IV, D-I

4. A-IV, B-1II, C-II, D-I

Options :
1.1
2.2
3.3
4.4

Question Number : 128 Question Id : 34212314658 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



a1 1Y G 11 1 e i

'\1;1'[;11 TR
G| I |RR-fG%R &1 BRE el &)
UV I [T SR AREAWwET & 9d @ Suford Bedl 81

Hfiges g 1L | 4G [I%R & $RS gl &)
TCU: TR TG eIt | IV, | Tqh I & Seor Bl Suiord Hedl g1

Hid feu U faded! & U gt SR &1 944 DL

1. A-L, B-II, C-III, D-IV

olo|w|s

2. AL, B-11, C-1, D-IV
3. A-IL, B-III, C-IV, D-1
4. A-IV, B-II, C-I1, D-I

Options :
1.1
2.2
3.3
4.4

Question Number : 129 Question Id : 34212314659 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List-I with List-IT

LISTI LISTII
Variable Equation
A | Kinetic energy I AR
B. |Potential energy| II. | uR
C. |Momentum III. |mx=w
D. |Friction IV |m=xg=xh

Choose the correct answer from the options given below:

1. A-IV, B-1II, C-II, D-I

[

. A-I. B-IV, C-III, D-II

(5]

-A-IL B-1, C-1IV, D-III

4. A-111, B-IV, C-1, D-1I

Options :
1.1
2.2
3.3
4.4

Question Number : 129 Question Id : 34212314659 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



A 1 1Y gl 11 61 i Hifse
&l
ﬁ;ﬂ_[ T
FEARH TS| L | %4 m?
JUG Tl | IL | uR

Ham L |mx v
U IV |m=g=xh

4 fqu U fadeul © O Ogt 3R &1 999 Hif:

1. A-IV, B-1II, C-II, D-I

olo|w|s

2. A-1, B-IV. C-I1II, D-II
3. A-IL, B-1, C-IV, D-III
4. A-IIT, B-IV, C-1, D-II

Options :
1.1
2.2
3.3
4.4

Question Number : 130 Question Id : 34212314660 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List-I with List-IT

LISTI LIST II
Name of the muscle Drigin
Levatores costarum I |Tiz&LjtoLs

Serratus posterior superior | II. |C; & Tyto Ty

Serratus posterior Inferior | III. |C; & Ty to T

olo|lw|w

Psoas IV | Ty1-Ty2 & Lito Ly

Choose the correct answer from the options given below:
1. A-I, B-IL, C-III, D-IV
2. A-I1. B-III., C-IV, D-I
3. A-IIIL B-1V, C-1, D-II

4. A-IV, B-1, C-II, D-III

Options :
1.1
2.2
3.3
4.4

Question Number : 130 Question Id : 34212314660 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



A 1 1Y gl 11 61 i Hifse
- L
TAIENY HRERH

L TII&LI 'E'DII_.:'

WY TR GARR | I | C7 & Ty 0 Ty
ey TR iy | 1L [C & Tyt Ty

Wiy IV. |Ty-Tip & LytoLs

olo|w|w

A feu U f[adeul § O Igt 3T &1 I904 HIfoT:

1. A-1, B-II, C-IIL, D-1IV

(]

CA-IL B-IIIL, C-IV, D-I

L

. AIIL B-IV, C-I, D-II

4. A-IV, B-1, C-11, D-III

Options :
1.1
2.2
3.3
4.4

Question Number : 131 Question Id : 34212314661 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List-I with List-II

LISTI LISTII
A broad attentional focus I | A cricket batsman directs attention to a ball
A narrow attentional focus I1. | ABaseball batter prepares to swing at a pitch

An external attentional focus | III. | A Soccer player dribbling the ball upfield.

ola|w|r

An internal attentional focus | IV. | A high jumper prepares to start her run-up

Choose the correct answer from the options given below:
1. A-II, B-III, C-IV, D-I
2. A-IV, B-III, C-I1, D-I
3. A-II, B-IIL, C-1, D-IV
4. A-IIL B-IL, C-1, D-IV

Options :
1.1
2.2
3.3
4.4

Question Number : 131 Question Id : 34212314661 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1. A-IL, B-II, C-IV, D-I
2. A-IV, B-IL, C-II, D-1
3.A-IL B-IIIL C-1, D-IV

4. AL, B-II, C-I, D-IV

Options :
1.1
2.2
3.3
4.4

Question Number : 132 Question Id : 34212314662 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List-I with List-IT

LISTI LISTII

I The force within the mdividual that drives a person to confront and
" |overcome adversity.

A | Personalitv

B Personality i All the conststent ways tn which the behavior of one person differs from
" | profile " |that of others, especially in soctal sttuations.

The plotting of an athlete's standardized personality scores on a line or bar

C. |Personality tratt | IIL
- graph

D. |Resilience IV. | A disposition to exhibit certain personality characteristics.

Choose the correct answer from the options given below:
1. A-IL, B-III, C-IV, D-I
2. A-IIL, B-IV, C-1, D-II
3. A-IV.B-IIL, C-II. D-I

4. A-IL B-L, C-IV, D-III

Options :
1.1
2.2
3.3
4.4

Question Number : 132 Question Id : 34212314662 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1. A-IL, B-II, C-IV, D-I
2. AL B-IV, C-I, D-II
3. A-IV, B-IIL C-II, D-I

4. A-IL B-L, C-IV, D-III

Options :
1.1
2.2
3.3
4.4

Question Number : 133 Question Id : 34212314663 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List-I with List-IT

LISTI LISTII
Assessments Meaning/ Explanation.
& | clilinuse L An assessment i which students present a scenario and then demonstrate how

they would react in that situation

) Collections of artifacts that typically are used to show students competency of
B. |Raole play IL :
a subject area

An assessment that provides students opportunity to reflect and write on
C. [Journals 1L 3T -
events of topics in class

D. |Portfolios IV. | Assessment of students physical ability usually done in a closed environment.

Choose the eorrect answer from the options given below:
[.A-IV.B-[, C-III, D-II
2. A-IL B-IIL, C-1, D-IV
3. A-IV, B-IIL, C-11, D-I

4. A-L B-IV, C-III, D-II

Options :
1.1
2.2
3.3
4.4

Question Number : 133 Question Id : 34212314663 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1. A-IV, B-[, C-II, D-II
2. AL B-IIL C-1, D-IV
3. A-IV, B-IIL, C-II, D-1

4. A-L B-IV, C-III, D-II

Options :
1.1
2.2
3.3
4.4

Question Number : 134 Question Id : 34212314664 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List-I with List-IT

LISTI LISTII
Essential fatty acids Dietary source.
A |Limoleic acid [ |Fishoil
B. | Arachidonic acid II. |Leafy greens
C. |Linolenic acid I |Milk
D. |Eichosapentaenoic acid | IV. [ Cormn o1l

Choose the correct answer from the options given below:

1. A-III, B-1, C-II, D-1IV
2. A1V, B-1, C-1I, D-IIT
3. A-IIL, B-1IV, C-1, D-1I

4. A-IV, B-III. C-II, D-I

Options :
1.1
2.2
3.3
4.4

Question Number : 134 Question Id : 34212314664 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1. A-IIL B-I, C-II, D-IV

glo|w|e

(]

.A-IV, B-1, C-II, D-IT1

L]

. A-IIL B-IV, C-1, D-1I
4. A-IV, B-1II, C-II, D-I

Options :
1.1
2.2
3.3
4.4

Question Number : 135 Question Id : 34212314665 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List-I with List-IT

Arjuna Awards (Zﬂigfgfn:e of the sportsperson| DLiifi‘::‘l]i;[lE
A | Shri. Anush Agarwalla I. |Kabaddi
B. |Shr. Pawan Kumar II. |Equestrian
C. |Ms. Nasreen ITI. |Para Canoeing
D. |Ms. Prachi Yadav IV. | Kho-Kho

Choose the correct answer from the options given below:

1. A-I1, B-1, C-IV, D-III

(i)

CA-IL B-1, G-IV, D-1I

(el

-A-IV, B-1II, C-1, D-1II
4. A-1l, B-1, C-III, D-1IV

Options :
1.1
2.2
3.3
4.4

Question Number : 135 Question Id : 34212314665 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1. A-II, B-I, C-IV, D-III

(]

CA-ITL B-1, C-IV, D-1I

L]

.A-TV, B-1II, C-1, D-1I
4. A-11, B-1, C-III, D-1V

Options :
1.1
2.2
3.3
4.4

Question Number : 136 Question Id : 34212314666 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List-I with List-IT

LISTI LISTII
Training Terms Meaning
. A quantitative element of training that can be measured as time or duration
A | Intensity L o
; of training
B. | Volume II. | The qualitative element of training such as speed, power.
C Density of I Intensity determined by dividing the total volume load by the total number
© |training | of repetitions.
D. |Traning intensity | IV. | The frequency of training within a given time frame.

Choose the correct answer from the options given below:
L. A-L, B-III, C-I1, D-IV
2. A-IL B-I, C-IV, D-IIT
3. A-IV.B-IIL, C-II. D-I

4. A-IL B-IV, C-L, D-III

Options :
1.1
2.2
3.3
4.4

Question Number : 136 Question Id : 34212314666 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Tt 1 91 G 1 1 e Bifere

Tl T

TIE T 3T
e ; 11 &1 U AT d [ord W10 o GHY 3YdT R A of
L : W%
B. |ufm I1. |18/ 1 I e o 1T, &7ACl
o | 7 | T ORI 1S 3 GRIgferl 1 o $ P faford s et
g |y fem e g
D. |ufgmdiam | v |u@ ffie geoEt | vl @ eReRa

T feu e fadedl | U wgt I &1 94 iU

1. A-I B-III, C-I1, D-IV
2. A-IL, B, C-IV, D-III
3. A-IV, B-IIL C-II, D-I

4. A-IL B-IV, C-L, D-III

Options :
1.1
2.2
3.3
4.4

Question Number : 137 Question Id : 34212314667 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List-I with List-IT

LIST1 LISTII
A | Plagiarism 1. | Protection of Human participants
B. |Outlier I1. | Using ideas of other.
C. | Copyright III. | An unrepresentative score.
D. | Informed consent | IV. | Seek permission.

Choose the correct answer from the options given below:
1. A-1, B-II, C-IIL, D-IV
2. A-II, B-III C-IV, D-I
3. A-L B-IL, C-IV, D-III
4. A-III, B-1I, C-1IV, D-1

Options :
1.1
2.2
3.3
4.4

Question Number : 137 Question Id : 34212314667 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1. A1 B-IL, C-III, D-IV

olo|w|s

2. A-I1, B-1II, C-IV, D-I
3. A-1, B-11, C-1IV, D-III

4. A-IIL B-1I1. C-IV, D-I
Options :
1.1
2.2
3.3
4.4

Question Number : 138 Question Id : 34212314668 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List-I with List-IT

LISTI LISTII
Research Design Descriptive study
Sampling design I |Pre-planned
Statistical design II. |Structured

Observational design | ITII. | Probability

olo|w|»

Operational design IV, | Advanced decisions

Choose the correct answer from the options given below:

1. A-I1, B-TII, C-IV, D-1I
2. A-IIL, B-11, C-1IV, D-1
3. A-IIL B-I, C-1II, D-IV

4. A-1, B-1I, C-III, D-IV

Options :
1.1
2.2
3.3
4.4

Question Number : 138 Question Id : 34212314668 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1. A-II. B-III, C-IV, D-I

olo|w|s

(]

. A-IITL B-II, C-1IV, D-1

L]

. A-IIL B-1, C-IL, D-IV
4. A-1, B-11, C-III, D-1V

Options :
1.1
2.2
3.3
4.4

Question Number : 139 Question Id : 34212314669 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List-I with List-IT

LISTI LISTII
A | Competitive State Anxtety Inventory-2 (CSAI-2)| I [Robin S Vealy (1986)
B. | Sports Confidence Inventory II. |Dishman and Ickes (1981)
C. | Group Environment Questionnaire III. |Craft, Magyar, Becker and Feltz (2003)
D. |Self-Motivation Inventory IV | Carron, Widmeyar and Brawley (1983)

Choose the correct answer from the options given below:
[. A-IV,B-1, C-IIL, D-II
2. A-IIL B-I, C-I1L D-IV
3. A-IIL B-1, C-IV, D-II

4. A-IV, B-1, C-1I, D-TII

Options :
1.1
2.2
3.3
4.4

Question Number : 139 Question Id : 34212314669 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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C. | U gTamaeHe wyraedl 1L | 1%, 7R, 93 3R Begd (2003)
D. |UeHIfedTH sa=] IV, | o, TagHaR iR sia (1983)
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L. A-IV, B-I, C-IIL, D-II
2. A0 B-I, C-1I, D-1IV
3. A, B-I, C-1V, D-II

4, A-IV, B-1, C-I1. D-III
Options :
1.1
2.2
3.3
4.4

Question Number : 140 Question Id : 34212314670 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List-I with List-IT

LISTI LISTII
(Somatotype) [(Body Build Classification)
A |Extreme ectomorph I |2-6-4
B. |Extreme endomorph I |1-7-1
C. | Extreme mesomorph ImI. | 7-1-1
D. |Ectomorphic mesomorph| IV. | 1-1-7

Choose the correct answer from the options given below:

1. A-IV, B-1IL, C-II, D-I

3

.A-IV, B-1II, C-1, D-1I

sl

- A-IILL B-1V, C-I1, D-I

4. A-III, B-IV, C-1, D-1I

Options :
1.1
2.2
3.3
4.4

Question Number : 140 Question Id : 34212314670 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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I I
ey, | droa
A | 3fd daTPide L | 2-64
B. |sfdTMampfad | 1. |1-7-1
C. |fdamem I | 7-1-1
D. |daIpfd® AEdE| IV. | 1-1-7
-4 fqu U fased! & O Hgl IR &1 99 BIfIT:

1. A-IV, B-III, C-II, D-I
2. A-IV, B-III, C-1, D-I
3. A-IIL B-IV, C-11, D-1
4. A-IIL, B-1IV, C-I, D-II

Options :

1.1

2.2

3.3

4.4

Sub-Section Number : 2

Sub-Section Id : 342123574
Question Shuffling Allowed : No

Question Id : 34212314671 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (141 to 145)
Question Label : Comprehension



Validity and reliability are a constant point of confusion and concern for many researchers. They
are three types such as external, instrument and internal. The results of external validity and
reliability can applies to population and further. The instrument validity and reliability consider
only on instruments. To enhance instrument reliability the researcher can use a test-retest or a
split-half methods. Finally internally validity and reliability focuses on how the study was
conducted and the difference or relationship observed are the result of the variables being studied.
The relationship between validity and reliability are either directly or indirectly associated. For an
example, if the golfers are trying to sink the ball in the hole, but the golfers are in a random
pattern all over the green area and the golfers made an second try still cannot sink the ball but
their putting is consistent and tight cluster. Further the golfers made the third attempt and have
achieved every ball hit has landed in the hole. The relationship between validity and reliability is
an important one that must be received in research studies.

Sub questions

Question Number : 141 Question Id : 34212314672 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The split-half method is used to improve .

1. External validity

[

. External reliability

LS

. Instrument validity
4. Instrument reliability

Options :
1.1
2.2
3.3
4.4

Question Number : 142 Question Id : 34212314673 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



The outcome of can be generalize beyond the sample.

1. External validity

(i)

. Instrument validity

(el

. Internal validity
4. Relationship observed

Options :
1.1
2.2
3.3
4.4

Question Number : 143 Question Id : 34212314674 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The Golf balls are in a random pattern all over the green area s an example of .
L. No validity and No reliability
2. Low validity and Low reliability
3. Low validity and High reliability
4. High validity and High reliability

Options :
1.1
2.2
3.3
4.4

Question Number : 144 Question Id : 34212314675 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



The golfers are putting the ball consistent and tight cluster is an example of .
1. No validity and No reliability
2. Low validity and Low reliability
3. Low validity and High reliability
4. High validity and High reliability

Options :
1.1
2.2
3.3
4.4

Question Number : 145 Question Id : 34212314676 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The golfers every hit, the ball has landed in the hole is an example of .
1. No validity and No reliability
2. Low validity and Low reliability
3. Low validity and High reliability
4. High validity and High reliability

Options :
1.1
2.2
3.3
4.4

Question Id : 34212314671 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (141 to 145)
Question Label : Comprehension
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Sub questions

Question Number : 141 Question Id : 34212314672 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Ocie SMh Usfd®l  H YUR B gd W4 fhar S g
1. STl a8l

2. drgl fayE-rgar

3. JUHIU] d4d]

4. JUBHY fIYTHRICT

Options :
1.1
2.2
3.3
4.4

Question Number : 142 Question Id : 34212314673 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



_ HURumE I 9ud 9 U SR {1 5 Iadl 8
1. ST de

2. UBU] el
3. 3fdN® dedl

4. UTerd ddy

Options :
1.1
2.2
3.3
4.4

Question Number : 143 Question Id : 34212314674 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4
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Question Number : 144 Question Id : 34212314675 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 145 Question Id : 34212314676 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Sub-Section Number : 3
Sub-Section Id : 342123575
Question Shuffling Allowed : No

Question Id : 34212314677 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (146 to 150)
Question Label : Comprehension



High altitude training is a technique used by athletes to enhance their performance by training at
elevations typically above 2,400 meters (8,000 feet). At these heights, the oxygen levels are
significantly lower than the sea level, which forces the body to adapt to the reduced availability
of oxygen. The physiological adaptation is an elevated production of erythropoietin, a harmone
stimulates the production of red blood cells. This increase in red blood cells enhances the oxygen
carrying capacity of the blood, which can improve endurance and performance when the athlete
returns to lower altitudes, other physiological changes include increased capillary density,
improved buffering capacity of muscles, and enhanced efficiency of respiratory muscles. These
adaptations collectively enhance the body’s ability to utilize oxygen more effectively. Moreover,
high altitude training can lead to improved mitochondrial density and function, further boosting
the energy production capacities of muscle cells. However, it is important to note that the benefits
of high altitude training can vary among individuals and not all athletes may experience the same
level of performance enhancement. Athletes often use a strategy known as “Live high, train low.,”
where they live at high altitudes to gain the physiological benefits but train at lower altitudes to
maintain training intensity.  This method maximizes the advantages of high altitude
acclimatization while minimizing the potential downsides, such as reduced training intensity due
to lower oxygen availability.

Sub questions

Question Number : 146 Question Id : 34212314678 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What primary physiological adaptation taken place at altitude training?

1. Increased muscle mass

I3

. Increased erythropoietin
3. Decreased lung capacity

4. Decreased Heart rate
Options:
1.1
2.2
3.3
4.4

Question Number : 147 Question Id : 34212314679 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following is not a physiological change due to altitude training?

1. More number of capillary

2. Increased PH balance

3. Effective pulmonary function
4. Reduced Power-house density

Options :
1.1
2.2
3.3
4.4

Question Number : 148 Question Id : 34212314680 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What is the “Live high, train low™ strategy?

1. Living and training at high altitudes

3

. Living at high altitudes but training at lower altitudes
3. Living at sea level and training at high altitudes
4. Living and training at sea level

Options :
1.1
2.2
3.3
4.4

Question Number : 149 Question Id : 34212314681 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



How the altitude training influences the pulmonary muscle?

1. Increasing number

(i)

. Increasing size
3. Increasing efficiency
4. Increasing diameter

Options :
1.1
2.2
3.3
4.4

Question Number : 150 Question Id : 34212314682 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

If an long distance runner adopt “Live high, train low” strategy, why to reduce training intensity
at altitude,

1. Decreased blood volume
2. Decreased Hb02

3. Decreased atmosphere O,

4. Decreased Anaerobic metabolism

Options :
1.1
2.2
3.3
4.4

Question Id : 34212314677 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix
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Question Number : 146 Question Id : 34212314678 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ST TaT) Ui # HF 91 wufie WR-SHS! 3ghed gidl 82
1. HiURig g H 9fs
2. YR A 3
3. PEpYT & H EY
4 TARHGW

Options :
1.1
2.2
3.3
4.4

Question Number : 147 Question Id : 34212314679 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1. DI BT S dE
2. PHYq H dfg
3. JHTd UG Uhr

4, 3918 M H g

Options :
1.1
2.2
3.3
4.4

Question Number : 148 Question Id : 34212314680 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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4. g TR QR Hary 3R uiRreor

Options :
1.1
2.2
3.3
4.4

[

Question Number : 149 Question Id : 34212314681 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1. §E1 dgIdhr
2. TR TGTHR
3. GEICT FGThR

4. TG GGIHR

Options :
1.1
2.2
3.3
4.4

Question Number : 150 Question Id : 34212314682 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

e, U civall Gl 1 e “fefd B1S. ¢ o ol UIo1 bl 3fTliche el g clf s (1) W
RI&I0T 1 il ] ol W Xell 7

1. SR 3T H g & BRUI

2. Hb0, ¥ g & BRI
3. GICIRUG 0, H &9 & R

4. S{AAI I ¥ g & HRU

Options :
1.1
2.2
3.3
4.4





